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Q_1 The given Venn diagram shows students of a dance class and their favourite dance styles. The rectangle represents
Kathak, the circle represents Odissd and the triangle represents Kuchipudi. Study the diagram and answer the given
questions.

Inall how many students learn Kathak (with or without other dance forms)?

Ans “1_ 35
X2 32
X 3 24
X422

Question ID : 1679436935

0.2 Ina code language, MASTER is coded as $83274; MISTER is coded as 563274, MISERY is coded as 563741, [n that
code language. what will SISTER be coded as?

Ans X' 1. 525483
X 2 525374
v 3 363274
X 4 363452

Question ID : 1679436941

Q.3 Readtheinformation below md answer the questions that follow.

Five friends are sitting around a circular table facing the centrz, Mukesh doss NOT st immediately next 1o Pushkar or
Naresh. Omkar sits 1o Pushlar s immediate right. Lalshya sits to Naresh’s mmediate feft.

i SN S S ST
Ans X 1. Cannot be determined
v 2. Pushkar
/X 3. Lakshya

2 4 Mukesh

Question ID : 1679436934

Q.4 Pappu goes from his home to his shop on a bike, First, he goes 5 kan to the nocth; then, turns right and goes for 3 km.
From there, he turns nght and goes for a distance of 1 km. Finally, be turns left and goes 2 kem to reach his shop. To

which direction is Pappu’s homs located with respect to his shop?

Question ID : 1679436940

Ans X 1. North-east
X 2 South-east
v 2 South-west
# 4. North-west

Q.5 Select the correct option that will complete the number series correctly.

Question ID : 1679436923

13,795,817
Ans 11. 63
X 2 61
X 3 65




X 4 59

Q.6  Select the tarm that is related to the third term in the same way as the second term isrelated to the first term,
Boring : Dull . : Inferesting :

Ans X 1. Alarming
/< 2. Creepy
X 3. Baffling
« 2 Amusing

Question ID : 1679436928

Q.7 Selsct the option that is related to the third ferm in the same way as the second term is related to the first term,

5412000871
Ans X 1. 49
X 2 48
X 3 64
v 2 56

Question ID : 1679436922

Q.8 Bhint said to Arju. “Your father’s mother is my sister’s mother-ir-law”. How is Anju related to Bhim?
Ans - X 1. Sister

X 2. Sister-in-law

X 3. Cousin

v 4 Niece

Question ID : 1679436931

Q.9  Select the term that is related to the third term in the same way as the second tarm is related to the first temm.

Eradicate : Abolish : : Authorise:
Ans 21 Tmpair
X 2. Reprimand
« 3. Empower

75 4. Censure

Question ID : 1679436929

Q.10 ghmpsh's &;r:wmrah bas a brother named Shantany, Chmmayi is Shantami’s sister's davghter How is Murli related

Ans 3 1. Nephew

X 2 Cousin
< 3. Brother
v 4 Uncle

Question ID : 1679436925

Q.11 The given Venn diagram shows students of 2 dance class and their favourite dance styles. The rectangle fepresens
Kathak, the circle represents Odissi and the wiangle represents Kuchipudi Study the diagram and answer the given

questions.

(R
24 N

Inall, how many smdents are there in the dance class?

Ans x 1. 67

K 2 64

v 3 63

X4 52

Question ID : 1679436937

Q.12

Question ID : 1679436939




Select the option that correctly arranges the given words in a
meaningful order.

A, Tie
B. Shoes
C. Trousers
D. Cap
E. Shirt
Ans X1 B_A-E-D-C
X2D-A-B-C-—E
XN B C-FH-A
v+B-C-E-A-D
Q.13 Select the word that CANNOT be formed using the letters of the word given below not more than te number of times
each letter appears in the given word below. Question ID : 1679436926
EMIGRATION
Ans X' 1. ORIGINATE
v 2. GERMINATE
X 3 IMAGINE
X 4 MIGRAINE
Q.14 Readtheinformation below and answer the questions that follow.

Five friends are sitting around a circular table facing the centrz, Mukesh doss NOT st immediately next 1o Pushkar or
Naresh. Omkar sits 1o Pushlar s immediate right. Lalshya sits to Naresh’s mmediate feft.

Who is sitting to Ombkar's immediate right?

Question ID : 1679436933

Ans  of 1. Mukesh
< 2. Lakshya
& 3. Naresh
# 4 Pushkar
Q.15 Read theinformation below and answer the questions that follow.

Ans

Five friends are sitting around a circular table facing the centrz, Mukesh doss NOT st inunediately next 1o Pushkar or
Naresh. Omkar sits 1o Pushlar s immediate right. Lalkshya sits to Naresh’s mmediate feft.

Between whom is Lakshya sitting?

v 1. Mukesh and Naresh
# 2 Omkar and Mukesh
# 3. Mukesh and Pushkar
# 4 Pushkar and Omkar

Question ID : 1679436932

Q.16 Which of the following words will come third in an English dictionary? Question ID : 1679436938
Ans o 1. martial

# 2. marital

# 3. marigold

& 4 martian
Q17 Select the option that is different from the other four. Question ID : 1679436927
Ans X 1. Jasmine

& 2. Tulip

X 3 Lily

v 4. Orchard
Q.18

Question ID : 1679436936




The given Venn diagram shows students of & dance class and their favourite dance styles, The rectangle represents
Kathak, the vircle represents Odissi and the triangle represents Kuchipudi. Study the dagram and answer the given

/T“\\
(

\31
]

L] ]

How many students learn at least two dance forms?

Ans  of 1. 26
X2 16
X 3 18
X4

Q.19 gelect the options that is different from the remaining four.
Ans 2 1. Valiant : Secretive

& 2. Altruistic : Selfish

+ 3. Heroic : Daring

/< 4 Cunning : Generous

Question ID : 1679436924

Q.20 Select the correct option that will complete the number series correctly.

2,5,7.10,12, 15, 17,
Ans i-]_ 20
X219
X3 22
X421

Question ID : 1679436930

Section : General Awareness

Q.1 sSukinda in Odisha is famous for deposits of which of the following minerals?
Ans  of 1. Chromite

& 2. Mica

/< 3. Manganese

# 4 Bauxite

Question ID : 1679436946

Q2 In which state is Gol Gumbaj, the tomb of Adil Shah, situated?
Ans  of 1 Karnataka

& 2 Telangana

X 3. Kerala

# 4 Tamilnadu

Question ID : 1679436952

Q3 The Jallianwala Bagh massacre took place on:
Ans 113 May 1918

X 2 13 May 1919

o 3 13 April 1919

2 4 13 April 1918

Question ID : 1679436944

Q.4 The President nomi members of the Anglo-Indian Community to the Lok Sabha.

Ans x 1. 10

Question ID : 1679436947




X212

v 2

K46
Q5 Which of the following is a good conductor of electricity? Question ID : 1679436957
Ans %1 Paper

v 2. Aluminium

& 3. Wood

& 4 Glass
Q.6 Which ameng the following was the highest produced commercial crop (in million tonacs) in India in 2016177 Question ID : 1679436951
Ans 2 1. Tobacco

X 2 Tea

« 3. Sugarcane

X 4 Coffee
Q7 What is the number of members in SAARC? Question ID : 1679436958
Ans 1. 711

X25

VAR

K43
Q8 e o e ——,— Question ID : 1679436950
Ans - X 11923

X 21947

& 31971

v 4 1934
Q.9 is removed by the process of impeachment. Question ID : 1679436948
Ans X 1. The Governor of a State

# 2. The Prime Minister of India

v 3 The President of India

X 4. The Speaker of the Lok Sabha
Q10 wrhat was the theme of Earth Day 20187 Question ID : 1679436959
Ans X 1. Adopt Car Pool

X 2. End Global Warming

v 5. End Plastic Pollution

< 4 End Cyber Terrorism
Q1 “Kesari”, a Marathi newspaper was founded by: Question ID : 1679436943
Ans

+ 1. Bal Gangadhar Tilak
# 2 Pandita Ramabai

# 3. Justice Ranade

< 4 Jyotirao Phule




Q.12

Ans

With which type of painting is the artist Bhajju Shvam associated?
X 1. Kalighat
& 2. Picchwai
v 3 Gond
# 4 Phad

Question ID : 1679436954

Q.13

Ans

What is the maximum strength of the Lok Sabha prescribed by the Constitution?
& 1. 564 members
& 2. 555 members
# 3. 558 members
v 4. 552 members

Question ID : 1679436949

Q.14
Ans

‘What is the all-time total number of Gold Medals won by India in track and ficld events a1 Commonwealth Games?

X117
X 23
X312
vis

Question ID : 1679436956

Q.15
Ans

The Puma Swargj (Complete Independence) resolution was passed by the Congress in December 1929 in:
X 1. the Lucknow session

2 2. the Nagpur session

+ 3. the Lahore session
& 4 the Calcutta session

Question ID : 1679436942

Q.16

Ans

will preside over the first meeting of National Committee for C ion of 150th Birth
Anniversary of Mahatma Gandhi in 2019.

+ ' Ram Nath Kovind
2 2. Arun Jaitley
2 3. Smriti Irani

2 4 Venkaih Naidu

Question ID : 1679436960

Q.17
Ans

‘Which of the following rivers originates in Trimbakeshwar in Nashik district of Maharashtra?

# 1. Mahanadi
& 2. Narmada
< 3. Tapti

v 4 Godavari

Question ID : 1679436945

Q.18

Ans

Which country was the top remittances receiving country in 2017?
2 1. China
# 2. United States America
v 3 India
/< 4. Japan

Question ID : 1679436961

Q.19

Ans

‘What is the total number of Olympic Gold Medals won by India in Hockey?
X16
X25
K33
vasg

Question ID : 1679436955




Q.20 With which musical instrument is the famous musician Pandit Arvind Parikh associated?

Ans X 1. Shehnai

Question ID : 1679436953

X 2. Sarangi
< 3. Tabla
o 4 Sitar

Section : Arithmetic Ability

Q.1 n+1 1 .
On simplification, M = 3/(32)~2 reduces to:

2y 2N+2_gyaN+2

Ans

r

&2

" &)
54

= [ = - S

Question ID : 1679436964

Q.2 The least number that when divided by 4, 3, 6, 7, 5 and 12 leaves aremainder of 2 in each case is x. and x is divisible by
13, What is the digit at hundred’s place inx7

Ans ?{’1 3
X 22
X3 7
vis

Question ID : 1679436972

Q.3  The monthly salary of A and B together is ¥ 56,000, Ifthe monthly salary of A i increased by 25% nd that of B by
lzi%.mﬂum'sn!ary of B will become 20%6 more than the new salery of A. 35% of the initial salary of A is!

Ans X 1. 8,750
X 2 8,680
X 3. %7,700
v 4 T8.400

Question ID : 1679436967

Q.4 Acancompletea taskin © days. B i 50% more eficient than ©, aad C can complete the same task m 15 days, B and ©
together starmed the werk bt had to leave the work after 2 days. The tumber of days in which A alone will complzte the
remaining task is:

Ans ?{’1 3
V26
X34
X 45

Question ID : 1679436975

Q.5 The total surface asea of & solid eylinder is 462 am®_ Ifits curved surface area fs 33;% of its total surface avea, there
the curved sarfsce area of a cons (in cm?), whens the height and hase radivs ars the came a: that of the cylinder is

a3
(userr=7}.

X1g\(f§

X 2 7742
V'3 7745
X 4 15442

Ans

Question ID : 1679436971

goods 354 e the cost of the offers two successive discounts of 20% 25% price,
.6 Mitu marks her goods 35% above the f the offer: ive di of nd 25% on the marked pri
she suffers aloss of ¥ 57. What will be her profit if she sells the goods on the marked price without any discount?

Question ID : 1679436969




Ans

v 1 %105
X 2 28750
X 3 T 140
X 4 12250

Q.7

Ans

In finding the HCF of two numbers by *division method”, the last division is 42 and the respective quotients are 17, 3
and 2. What is the difference between the two mumbers?

X 1. 5576
v 2 5586
X 3. 5568
X 4 5567

Question ID : 1679436973

Q.8

Ans

The monthly incomes of A and B are in the ratio of 5 ; 4, and their monthly expenditures are in the ratio of 9; 7. If the
monthly income of A is equal to two times the expenditure of B, then the ratio of the eamings of A to that of B is:

vi25:21
X2 23:21
X 320:19
X 419:17

Question ID : 1679436968

Q.9

Ans

The ratio of three positive integersis 21 37 4, and the sum of the cubes of the integers is 792, By what least namber
should the sum of their squares be muitiplied so that it becomes a perfect square?

v 1 29
X217
X319
X 4 31

Question ID : 1679436962

Q.10

Ans

(2.07)% +(0.0193)3
(0.207)2+(0.00193)2

{0.:67)(0.4489)—(D.1)°

The value of
0.67(0.77)+0.01

v 57

X 2. 0.0057
X 3 0.57
X 4 0.057

Question ID : 1679436963

Q.11

Ans

The sum of three fiactions is 2 - - [f the smallest fraction is divided by the ereatest fraction, the result is 22, which is

greater than the middie (cther than greatest and smallest) fraction l\vy;—4 . What i= the ratio of the middle fraction to the
greatest fraction?

X1.5:8
X28:9
X3 16:21
vie6:7

Question ID : 1679436966

Q.12

Ans

5+5x%5 Z-Zofz 2422 Z+Zof2
. 588 8§ - B )
o of X

Thevalueofss fs ;;; P §§°f§

is:

2
P SR
3

2
2. o
> 15

Question ID : 1679436965




Q_ 13 Asum increases by 84% in 7 years at simple inferest at a certain rate percent per annum. What will be the compound
fmrerest an 8 sum of ¥ 12,500 at the same rate of Mierest in 2° years? (Nearest 10 an integer) Question ID : 1679436970

Ans  of 1. %16,621
X 2 T16.618
X 3 16,732
X 4 T16,632

Q.14 about can vavel 10 km upstream and 13 km dovnstream in 13 1. Tt can travel 10 knn downstream and & kan upstream .
in 50 min. How much time (ia hours) will it take to cover a distance of 140 km in still water? Question ID : 1679436974

Ans x1- 6

1

K272
2

Vs 7
1

p
i

Comprehension:

Study the following pie-chart and table and answer the following
questions that follows:

Percentage of people in a city working in
various industries

Chemical Industrias

Call Center

EIT ®EClCenter ®=Banking ®ESales W Chemical industries

Total number of people= 20500
Percentage of males working in various industries

Industries Males
IT 60%
Call Centre 55%
Sales 40%
Banking 60%
Chemical 85%

SubQuestion No : 15

@' The number of males working in IT and Banking
industries together is what percent more than the

Question ID : 1679436978

mumber of females working in Call Centre, Sales and
Chemical industries together? (Corract to one
decimal point)

Ans of 1222




X 2208
X 3224
X 4235

Comprehension:

Study the following pie-chart and table and answer the following

questions that follows:

Percentage of people in a city working in

various industries

Chemical Industries

Call Center
3%

EIT ECICenter ®EBanking ESales WChemical industries

Total number of people= 20500
Percentage of males working in various industries

Industries Males
ET 60%
Call Centre 55%
Sales 40%
Banking 60%
Chemical 859%

SubQuestion No : 16

@1 The number of males working in Sales and Chemical
industries together is equal to the total number of
females working in the industries of

Ans - 1. IT and Call Centre

/< 2. Banking and Chemical
v 3. Sales and IT

/< 4 Sales and Banking

Question ID : 1679436977

Comprehension:




Study the following graph and answer the questions that follows:

70 65

5 & B

s

Percent Profit earned

Years

mmge=Company A ==ge=Company B

SubQuestion No : 17

Percent profit earned by two companies A and B over the years

Percent Profit=(Income—Expenditure)/Expenditurex100

&0

2010 2011 2012 2013 2014 2015

Qf If the income of company A in 2014 was T 181.5
lakh, then What was its expenditure in that year?

Question ID : 1679436980

Ans of 1. T 110 lakh
< 2 T 115 lakh
& 3. 7100 lakh
& 4 T 112 1akh

Comprehension:

Study the following graph and answer the questions that follows:

70 65

5 &5 B

Percent Profit earned
=

Years

g COompany A =g Company B

SubQuestion No : 18

Percent profit earned by two companies A and B over the years

Percent Profit=(Income—Expenditure) Expenditure=100

&0

2010 2011 2012 2013 2014 2015

Q.1 [




8 Expenditure of company B in 2013 was 90% of its | Question ID : 1679436981

expenditure in 2012. Income of B in 2013 was what
percent of its income in 20127

Ans ¢1. 932

X 2 963

1

2

Comprehension:

Study the following bar graph which shows the information regarding
sales revenue and cost of production of the company ABC over the
years, and answer the questions that follows:

E SalesRevenue.  m Cost of Production (1IN THOUSAND )

200
800 80
700
700 650
500 -
= 600 . . :
g 525 10 520
Z 500 450
3
5
B 400
£ 300
200
100
)
2012 2013 2014 2015 2016
YEARS

SubQuestion No : 19

&1 If the cost of production in 2013 and 2015 be Question ID - 1679436984

increased by 10% and 20% respectively. then by
what percent will the total cost in these two years be
more than the sales revenue of 20167 (Correct to one
decimal place)
Ans X 1. 40.8%

v 2 41.2%

X 3 41.6%

X 4. 41.8%

Comprehension:




Study the following bar graph which shows the information regarding
sales revenue and cost of production of the company ABC over the
years, and answer the questions that follows:

m GalesRevenue @ Cost of Production (1M THOUSAND )

200
800 80
700
700 550
500 -
i 600 - : '
= 525 10 520
Z 500 450
i
2
2 400
Z 300
200
100
o
2012 2013 2014 2015 7616
YEARS

SubQuestion No : 20

Q.2 : :
o By what percent the average sales revenue is more Question ID : 1679436983

than the average production cost of the given years?
Ans 1. 20%
< 2 28%
X 3. 30%
v 25%

Section : General English

Q.1 Fill in the tlank with the appropriate idiom.
Question ID : 1679436999

News abour the indictment ofthe corrupt officer and those whom he had cheated were sesn rejoicing.

Ans - X 1. broke the ice
o 2. spread like wild fire
2 3. made a clean sweep

X 4. leapt in the dark

Q.2 Choose the comrect word to fill in the blank
Question ID : 1679436988

Thave terrible headache. I'm sorry I can't accompany you 1o the movie.
Ans x 1. an

X 2. some
X 3. the
v

Q.3 Fill in the blank with the appropriate phrasal verb.
Question ID : 1679436998

My sunt had a massive heart attack. Luckily, she received timely medical help that helped her to E

Ans 3 1. pull off
« 2. pull through
X 3. pull along
& 4 pull on




Q4

Ans

Choose the correct ANTONYM of

COMMITTED

& 1. Undisturbed
v 2. Unmotivated
X 3. Praiseworthy

X 4 Inspired

Question ID : 1679436986

Q.5

Ans

Fill in the blank with the appropriate word.
We must keep in mind that most trains on this route will be delayed if there is heavy fog.

2 1. usually
X 2 truly

+ 3. probably
X 4 clearly

Question ID : 1679436990

Q.6

Ans

Choose the correct PASSIVE VOICE form of the given sentence.

The judge asked the inspector to find out where the accused had spent the previous night,

F .

The inspector was asking the judge to find out about the previous night spent by the accused,

X 2

The judge said to the mspector that he should find out where the accused had been the previous night.

X 3.

The judge asked the inspector. “Where did the accused spend the previous night?”

v

The inspector was asked by the judge to find out where the accused had spent the previous night.

Question ID : 1679436993

Q.7

Ans

In the following sentences. four words or phrases have been underlined. One of them is incorrect, Choose the
INCORRECT word or phrase from the given options.

Some of the smaller towns in South India are cheaper for setting up the TT industry. They are therfore offering great
orportunities to professionals on the field of IT.

v 1. on the field of IT

< 2. for setting up

& 3. Some of the smaller towns
X 4. great opportunities

Question ID : 1679436992

Q.8

Ans

Choose the sentence that is correctly punctuated.

F

“the best way to handle a difficult situation is to overcome your 2go.” advised the spiritual leader. swami,

&2

The best way to handle a difficult relationship i to overcome your ego advised the spiritual leader, Swami

&3

The best way to handle a difficult situation is to overcome your ego advised the spiritual leader swami,

-

“Thic best way to handle a difficult relationship is to overcome your ¢go.” advised the spiritual leades, Swami.

Question ID : 1679436996

Q.9

Ans

Chocse the comrert ANTONYM of the underlined word fo fill in the blank.

The digital world expects all of us to be very tech-savvy, but I still prefer to do my personal writing :

< 1. electronically
X 2 easily

+ 3 manually

X 4. formally

Question ID : 1679436987




Q.10

Ans

Choose the word that is correctly spelt.

X 1. Elementry

v 2 Grammar

/< 3. Mischievious
& 4 Vacum

Question ID : 1679436997

Q.11

Ans

Choose the correct SYNONYM oft

DANGER

v 1. Peril

& 2. Disturbance
# 3. Horror

. 4 Depreciation

Question ID : 1679436985

Q.12

Ans

Choose the best option to combine the given sentences,

Tnoticed that an old woman was standing on the road side unable to cross over to the other side. T felf that
1 should help her.

F

I noticed an old woman unable to cross over to the other side of the road still I felt I should help her.

&2

I noticed an old woman unable to cross over to the other side. however I felt I should help her,

&3

‘Whepever I noticed that an old woman was standing on the road side, umable to cross over to the other side, 1 felt that I
should help her.

v

When I noticed that an old woman was standing on the road side. unable to cross over to the other side, I felt that T
should help her.

Question ID : 1679436995

Q.13

Ans

Choose the most appropriate INDIRECT SPEECH for the following sentence.

I said 1o Smita, “Please help me to arrange these files and the furniture for the meeting”.

W

I requested Smita to help me to arrange those files and the furniture for the meeting.

&2

I am requested by Smita to please help her to arrange those files and the furniture for the meeting.

&3

Smita told me that she needed help in arranging the files and the fumiture for the meeting.

F s

I was requesting Smita that she should help me in arranging the files and the fumiture for the meeting.

Question ID : 1679436994

Q.14

Ans

Fill in the blank with the appropriate word.

My friendsand I to watch the IPL finals in Mumbai.
2 1. was planning
« 2. are planning
X 3. were planned

X 4 is planned

Question ID : 1679436989

Q.15

Ans

In the following sentences, four words or phrases have been inderlined. One of them is incorrect. Choose the
INCORRECT word or phrass from the given options.

There were spacial argas in the city that are sarmarked for commercial activities. Yon cannet open a restaurant in this
][[ 1& m}j—mjm.

o 1. were special areas
X 2 it is residential
X 3. cannot open a restaurant

Question ID : 1679436991




X 4 that are earmarked

Comprehension:

Read the following passage and answer the questions that follows.

You think that your attention is in the present moment when it’s actually
taken up completely by time. You cannot be both unhappy and fully
present in the Now. What vou refer to as your ‘life” should more
accurately be called your ‘life situation’. Certain things in the past
didn’t go the way vou wanted them to go. You are still resisting what
happened in the past, and now you are resisting what is. Hope is what
keeps vou going, but hope keeps vou focused on the future, and this
continued focus perpetuates your denial of the Now and therefore your
unhappiness.

It 1s true that my present life situation is the result of things that
happened in the past, but being stuck in it is what makes me unhappy.
Forget about your life situation for a while and pay attention to your
life. What is the difference? Your life is now. Your life is real. Find the
‘narrow gate that leads to life’. It is called the Now. Narrow your life
down to this moment. Your life situation may be full of problems, but
find out if you have any problem at this moment. Not tomorrow or in 10
minutes, but now.

Do you have a problem now? Whenever you can, make some room;
create some space, so that you find the life underneath your life
situation. Use your senses fully. Be where you are. Look around. See
the light, shapes, colours and textures. Listen to the sounds: don’t judge
them. Move deeply into the Now. You are leaving behind the deadening
world of mental abstraction. of time. You are getting out of the insane
mind that is draining you of life energy. just as it is slowly poisoning
and destroving Earth. You are awakening out of the dream of time into
the present.

SubQuestion No : 16

A _- : S o
Qa What will happen if you live in the ‘Now’? Question ID : 1679437004

Ans X 1. Your mind will be full of agitated thoughts.
X 2. You will be distracted by many worties.
# 3. You will start dreaming of a great future.

W 4 You will awaken to the present situation.

Comprehension:




Read the following passage and answer the questions that follows.

You think that vour attention is in the present moment when it’s actually
taken up completely by time. You cannot be both unhappy and fully
present in the Now. What vou refer to as your ‘life” should more
accurately be called your ‘life situation’. Certain things in the past
didn’t go the way vou wanted them fo go. You are still resisting what
happened in the past, and now you are resisting what is. Hope is what
keeps vou going, but hope keeps yvou focused on the future, and this
continued focus perpetuates your denial of the Now and therefore your
unhappiness.

It is true that my present life situation is the result of things that
happened in the past, but being stuck in it is what makes me unhappy.
Forget about your life situation for a while and pay attention to your
life. What is the difference? Your life is now. Your life is real. Find the
‘narrow gate that leads to life’. It is called the Now. Narrow your life
down to this moment. Your life situation may be full of problems, but
find out if you have any problem at this moment. Not tomorrow or in 10
minutes, but now.

Do vou have a problem now? Whenever you can, make some room;
create some space. so that you find the life underneath your life
situation. Use your senses fully. Be where you are. Look around. See
the light, shapes, colours and textures. Listen to the sounds; don’t judge
them. Move deeply into the Now. You are leaving behind the deadening
world of mental abstraction. of time. You are getting out of the insane
mind that is draining you of life energy. just as it is slowly poisoning
and destroving Earth. You are awakening out of the dream of time into
the present.

SubQuestion No : 17

Q.1 : : - :
5 According to the writer, hope is not good because: Question ID : 1679437002

Ans ¢ 1. it makes vou focus on the future.

o 2. you do not accept reality of the present.

&< 3

it makes vou feel that there aren’t any problems.

< 4. you live happily with memories of the past.

Comprehension:




Read the following passage and answer the questions that follows.

You think that vour attention is in the present moment when it’s actually
taken up completely by time. You cannot be both unhappy and fully
present in the Now. What vou refer to as your ‘life” should more
accurately be called your ‘life situation’. Certain things in the past
didn’t go the way vou wanted them fo go. You are still resisting what
happened in the past, and now you are resisting what is. Hope is what
keeps vou going, but hope keeps vou focused on the future, and this
continued focus perpetuates your denial of the Now and therefore your
unhappiness.

It is true that my present life situation is the result of things that
happened in the past, but being stuck in it is what makes me unhappy.
Forget about your life situation for a while and pay attention to your
life. What is the difference? Your life is now. Your life is real. Find the
‘narrow gate that leads to life’. It is called the Now. Narrow your life
down to this moment. Your life situation may be full of problems, but
find out if you have any problem at this moment. Not tomorrow or in 10
minutes, but now.

Do vou have a problem now? Whenever you can, make some room;
create some space. so that you find the life underneath your life
situation. Use your senses fully. Be where you are. Look around. See
the light, shapes, colours and textures. Listen to the sounds; don’t judge
them. Move deeply into the Now. You are leaving behind the deadening
world of mental abstraction. of time. You are getting out of the insane
mind that is draining you of life energy. just as it is slowly poisoning
and destroving Earth. You are awakening out of the dream of time into
the present.

SubQuestion No : 18

Q.1 . : :
g 1he writer refers to life as: Question ID : 1679437001

Ans - 1. fisture life
o 2. life situation
& 3. life energy

< 4 past life

Comprehension:




Read the following passage and answer the questions that follows.

You think that vour attention is in the present moment when it’s actually
taken up completely by time. You cannot be both unhappy and fully
present in the Now. What vou refer to as your ‘life” should more
accurately be called your ‘life situation’. Certain things in the past
didn’t go the way vou wanted them fo go. You are still resisting what
happened in the past, and now you are resisting what is. Hope is what
keeps vou going, but hope keeps vou focused on the future, and this
continued focus perpetuates your denial of the Now and therefore your
unhappiness.

It is true that my present life situation is the result of things that
happened in the past, but being stuck in it is what makes me unhappy.
Forget about your life situation for a while and pay attention to your
life. What is the difference? Your life is now. Your life is real. Find the
‘narrow gate that leads to life’. It is called the Now. Narrow your life
down to this moment. Your life situation may be full of problems, but
find out if you have any problem at this moment. Not tomorrow or in 10
minutes, but now.

Do you have a problem now? Whenever you can, make some room;
create some space, so that you find the life underneath your life
situation. Use your senses fully. Be where you are. Look around. See
the light, shapes, colours and textures. Listen to the sounds; don’t judge
them. Move deeply into the Now. You are leaving behind the deadening
world of mental abstraction. of time. You are getting out of the insane
mind that is draining you of life energy. just as it is slowly poisoning
and destroving Earth. You are awakening out of the dream of time into
the present.

SubQuestion No : 19

1 - ; : 1
Qg Which of the following statements in INCORRECT? Question ID : 1679437005

Ans 1.

You keep yvourself away from the present when you
dream of the future.

W 2
By living in the present you are surrounded by
unhappiness and this shatters your world.

5 3
Your energy level goes up when you think too much
about the future.

F 8
Life can improve tremendously by your
consciousness of what is happening at this moment.

Comprehension:




Read the following passage and answer the questions that follows.

You think that yvour attention is in the present moment when it’s actually
taken up completely by time. You cannot be both unhappy and fully
present in the Now. What vou refer to as your ‘life” should more
accurately be called your ‘life situation’. Certain things in the past
didn’t go the way vou wanted them to go. You are still resisting what
happened in the past. and now you are resisting what is. Hope is what
keeps vou going, but hope keeps vou focused on the future, and this
continued focus perpetuates your denial of the Now and therefore your
unhappiness.

It is true that my present life situation is the result of things that
happened in the past, but being stuck in it is what makes me unhappy.
Forget about your life situation for a while and pay attention to your
life. What is the difference? Your life is now. Your life is real. Find the
‘narrow gate that leads to life’. It is called the Now. Narrow your life
down to this moment. Your life situation may be full of problems, but
find out if you have any problem at this moment. Not tomorrow or in 10
minutes, but now.

Do you have a problem now? Whenever you can, make some room;
create some space. so that you find the life underneath your life
situation. Use your senses fully. Be where you are. Look around. See
the light, shapes, colours and textures. Listen to the sounds; don’t judge
them. Move deeply into the Now. You are leaving behind the deadening
world of mental abstraction. of time. You are getting out of the insane
mind that is draining you of life energy, just as it is slowly poisoning
and destroving Earth. You are awakening out of the dream of time into
the present.

SubQuestion No : 20

062 “Your life is real. Find the ‘narrow gate that leads to
life’.” In these lines ‘narrow gate’ refers to

Question ID : 1679437003

Ans 5 1. time

o 2. the present
/< 3. problems
X 4. adifferent life

Comprehension:




A fodr 10 F1g@rer & 9gad IO T el % 3o} Anae|

1918 | JFT 1947 TF HT THY TAlaew TOY & HFIA
¥ F A7 @9 & TFET §| 3T Fd # AN T Feed A
TaaTar & 33l e ¥ o gay Sier) e oo
NITHaT & ATHEST F BIZH ARSI FAdT F T F9 v BT
fafeer grasTae = @2z & # o1, sEfoT 3 39 FErediear
areleT A enfier Ul FEferT Fameiea FIH H 0TS
gfygaa 3T 5T gEsTaE 7 38 7519 H g ATs o 3F
fsami 1919 & Sifrararer ST i Tear g5 au F s
TR & gEaTel gl el 1921 o JHIH 3eak Tl & A
ot & foraa arfdrer o g3m s ¥ gey afdor & Ader
ﬁmgmimmﬁsﬁmmﬁmﬁmm
T U1 1925 F oA FEgfare 9 i g1 FweE &
mm@raﬂﬂqqﬁagmmﬁm ST J8% ¥
1929 H gy Hoyd # FIEoo 78 « FIF & HegeT
Fr 2ffTT & O TeT w1 waw 9T e s geaa
H A ASgyl & TIed W §d &f ATl SIHYY FEIERer
AR F=Eg gaT S @ ATl 1942 F ‘eRT oiEr e,
FoE, fE ®ie @ TEw, 1946 # HAgar-ReE At feagE &
mmmﬁaﬁaﬁmmgmqm,sam#
trﬁurmmtrmcl?ﬁmmtﬁ?rg}m

SubQuestion No : 1

e el T 5O 9iEaT 3T Question ID : 1679437009
Ans X1 FUTCHS

A 2. ATHACHS

X 3 UATCHS

W 4 w

Comprehension:




A fodr 1T AT F TgER I I Al F 3o S|

1918 | JFT 1947 TF HT THY TAlaew TOY & HFIA
T H T @ FT THT g1 55 FT H gAY [T Heodd o
TaaTar & 33l e ¥ o gay Sier) e oo
NITHaT & ATHEST F BIZH ARSI FAdT F T F9 v BT
fafeer ararsTae 1 @ez &9 7 o1, =ufov 3 o9 m=rfear
ETeleT A enfirer g1 FEferT Fameiiea FIH H 0TS
gfygaa 3T 5T gEsTaE 7 38 7519 H g ATs o 3F
fsami 1919 & SifraraTer srer i wear g5 au F e
TR # gl gl well 1921 o JTHIH 3eal Ter & A
ot & foraa arfdrer o g3m s ¥ gey afdor & Ader
ﬁmgmimmﬁsﬁmmﬁmﬁmm
T T 19253%%@;%;@@%??[3@@#
mm@raﬂﬂqqﬁagmmﬁm ST J8% ¥
1929 H gy Hoyd # FIEoo 78 « FIF & HegeT
$r 2T ¥ 7 TIveT F wew oftg G sdw teeate
# fFure- Aeed & TIeA W T & ATl ITHTY THIEEr
AR F=Eg gaT S @ ATl 1942 F ‘eRT oiEr e,
FoE, fE ®ie @ TEw, 1946 # HAgar-ReE At feagE &
SIS HASAR] ATFal 1 Jecl g3 98719, $4 &9 &
trﬁurmmtrmcl?ﬁmmtﬁ?rg}m

SubQuestion No : 2

2 i
*? e CEREE T §'3T|"? Question ID : 1679437008

e 1 afaor 3
A
Ko ofdem &
Ko @@ H

Comprehension:




A o =T sreEny o ugeR IO M weAl & 3ok Afe|

1918 | JFT 1947 TF HT THY TAlaew TOY & HFIA
T H AT B F TFET g 56 FA & gAN T Feod o
TEaar & f3delt et ¥ off gay Ser) sifeeerer gofr
NITHaT & ATHEST F BIZH ARSI FAdT F T F9 v BT
fafeer ararsTae 1 @ez &9 7 o1, =ufov 3 o9 m=rfear
ETelT A enfier Ul FEferT FameiEa TIH H FOTCAS
gfygaa 3T 5T gEsTaE 7 38 7519 H g ATs o 3F
fsami 1919 & SifraraTer srer i wear g5 au F e
TR H gIarer gl el 1921 & NI 3ea) T F
et 7 fFae aees Eﬁﬁ'g‘sﬂ!ﬂaﬁ%mﬁm
ﬁmgmimmﬁsﬁmmﬁmﬁmm
T T 19253%%@;%;@@%??[3@@#
MWHQ@ﬁgmmmdqla<m|m =redog
1929 H gy Hoyd # FIEoo 78 « FIF & HegeT
$r 2T ¥ 7 TIveT F wew oftg G sdw teeate
# fFure- Aeed & TIeA W § & aTel ITHTY THIEmer
3R F=Eg gaT S @ A7l 1942 F “eRT oiEr AEe,
FoE, fE ®ie @ TEw, 1946 # HAgar-ReE At feagE &
SIS HASAR] ATFal 1 Jcl g3 98719, $4 &9 &
qﬁwmmcrﬁal?ﬁmw&ﬁ?rg&m

SubQuestion No : 3

a3 AtE=T ﬁ?ﬂ'@" hel §'3-3T'? Question ID : 1679437010

Ans X 1. 1929
v 2. 1946
/31925
< 41942

Comprehension:




Q.4

Ans

A o =T sreEny o ugeR IO M weAl & 3ok Afe|

1918 | JFT 1947 TF HT THY TAlaew TOY & HFIA
T H AT B F TFET g 56 FA & gAN T Feod o
oo & T3l acear @ oft "ey Sien srfoerer Sef
Roraat & oamHe! Fr SIEeT AET J9ar & |t T v 2
fafeer ararsTae 1 @ez &9 7 o1, =ufov 3 o9 m=rfear
ETelT A enfier Ul FEferT FameiEa TIH H FOTCAS
giaas H1aTl §feer garsuae & 38 A9 # gHaTF o7 OF
fsami 1919 & SifraraTer srer i wear g5 au F e
TR H gIarer gl el 1921 & NI 3ea) T F
ot 7 A= e m?ﬂlsﬁaﬁ%aﬁ‘mﬁm
ﬁmgmimmﬁsﬁmmmﬁmm
T T 19253%%@;%;@@%??[3@@#
MWHQ@ﬁgmmmdqla<m|m =redog
1929 H FEI HoeT H T #Ag® 7 FOF & HegeT
$r 2T ¥ 7 TIveT F wew oftg G sdw teeate
# fFure- Aeed & TIeA W § & aTel ITHTY THIEmer
AR FAET FaT I @ A7l 1942 F “oRT BIE AR,
3oE, fE ®ie @ 5Ew, 1946 # Agar-RyE At feagE #
SIS HASAR] ATFal 1 Jcl g3 98719, $4 &9 &
IROTEFRT 1947 # R Tl gam|

SubQuestion No : 4

Fferararer s #r uEar w9 Eéﬁ Question ID : 1679437007

v 11919
< 21929
31909
/< 41939

Comprehension:




A o =T sreEny o ugeR IO M weAl & 3ok Afe|

1918 & wI&Y 1947 &% HT HAT Tsilias HON & 3T
T H AT B F TFET g 56 FA & gAN T Feod o
oo & T3l acear @ oft "ey Sien srfoerer Sef
Nomaat & omEeT Fr SIEeT AET J9ar & @t T v 2
fafeer armrsTae #1 @2z &9 7 o1, =Efov 3 o9 m=Erfear
ETelT A enfier Ul FEferT FameiEa TIH H FOTCAS
giaas H1aTl §feer garsuae & 38 A9 # gHaTF o7 OF
fsami 1919 & Sifrararer srer fr Tear g9 du F s
TR H gIarer gl el 1921 & NI 3ea) T F
ot 7 A= e Eﬁﬁ'?ﬂtsﬁ'aﬁ%aﬁﬁwﬁm
ﬁmgmimmﬁsﬂmmaﬁaﬁmﬁmm
T T 19253%%@;%;@@%??[3@@#
maa'lﬂ’ra?—rmwgﬂ‘l?gaﬂmmdmamm =redog
1929 H FEI HoeT H T #Ag® 7 FOF & HegeT
Fr T & T T = waw oy G s geaf
# fFure- Aeed & TIeA W § & aTel ITHTY THIEmer
AR FAET FaT I @ A7l 1942 F “oRT BIE AR,
3ee fge B @ §EY,1946 H Auer-RaE iR frage &
SIS HASAR] ATFal 1 Jcl g3 98719, $4 &9 &
IROTEFRT 1947 # R Tl gam|

SubQuestion No : 5

s q':U{i' FHTA T o83 Eﬂﬁ?—F §'3-ET: Question ID : 1679437011
s X1 e e
X2 Roer e &

< 3 FoThedT HfOFA #
v o amglt sfidee H

O @ RrenE ofeE FIT EEM? Question ID : 1679437025
Ans x 1 W

X2 aof

o 3 JeTH

X 4 HITH

Q.7
‘Pr:é" FT TAIETET & Question ID : 1679437024

Ans  of 1. HHTRT
< 2. HYTRT

=




X 5 U
X 4 fremeT

Q.8

Ans

Fafof@a # ¥ sia-ar aiﬁgﬁﬁr%‘?
X1

X 2 FH

X 3 T

R -

Question ID

11679437018

Q.9

Ans

=@ J Fia-ar o= g3 872
X Tg
v =X
X3 T8
X 4 3T

Question ID

11679437017

Q.10

Ans

gfafed & =i= @1 A 2
X Eed

X2 TR

v 5 e

X 4 Ffea

Question ID

11679437016

Q.11

Ans

‘HiFT T TATIEEY oo FiT &@T 27

X e
v o 3T
FERCT
X 4 gasd

Question ID

11679437022

Q.12

Ans

TE=TelT THEAT g1 HET 9 g7
X 1. HgFd aag
X 2 e g

v TTeT I
X 4 39T

Question ID

11679437019

Q.13

Ans

‘HeY W7 7@ @’ 9 g
X 1. ATAEGTES
X 2 geFaTEe
v o RrtgaTs

X 4 megaTaw

Question ID

11679437020

Q.14

Ans

‘ST & FeAw AH g TFT F HYS Y B AT g2
X1 F

Question ID :

1679437021




¥ +

Q.15

Ans

g & & go8F o oifeu|
X 1. 3T
W o AT

X 3 AT
X4.34“’11-r;\

Question ID

11679437012

Q.16

Ans

BT F R rse 4T geme?
A T
X 2 age
X s HIa

v

Question ID

11679437026

Q.17

Ans

‘e’ T IATIEET JeT 8
X1 TR
X2 g
W 3 AT
X 4 Semag

Question ID :

1679437023

Q.18

Ans

AT d dagg e AT AT &2
PO i)
X 2 gr
X 3. e
W 4 =T

Question ID

11679437013

Q.19

Ans

‘STafeT FT N &
K1 T

v 2 et 3 s ¥ 9 w T
< 3. 3TeRTT
X 4 FeTT

Question ID

11679437014

Q.20

Ans

‘TEETE & 8 S F=r gen?
X1 g+ad

X 2 T+

X 3 FFT+Eg

v G+

Question ID

11679437015




Section : Subject Related

Q_‘] ‘Which of the following isa condition where myosin heads are unable to detach from actin due to complete lack of ATP?

Ans o 1. Rigor mortis
2 2. Muscle fatigue

X 3. Muscle tone
X 4 Wave sumimation

Question ID : 1679437041

Q2 wWhat is a herbarium?

Ans J1_

A centre for the preservation of dried specimen of plants

< 2. A collection of dried herbs
&3

A garden with a collection of medicinal herbs

X 4 A garden with varied collection of herbs

Question ID : 1679437046

Q3 WWhat is a genetic clone?

Ans x 1.
A heterosexual plant produced by sexual means

X 2
A homozygous plant produced by sexual means

/< 3. A hybrid produced by sexual means
o 4 A genetic composition

Question ID : 1679437029

Q.4 Which of the following would not result in increase in RBC production?
Ans 3 1. Polycythemia

2 2. Hemorrhage

+ 2 Donating blood to blood bank

X 4 High altitude

Question ID : 1679437036

Q5 TWhat is “meatus” in skeletal system?
Ans 3 1. A shallow depression

' 2. A tube-like opening

< 3. A sharp. slender projection

75 4. A smooth, flat articular surface

Question ID : 1679437035

Q.6 Which of the following properties can be used for predicting function of a protein?

Ans

/< 1. Overall charge of a molecule
X 2. Molecular weight
' 3. Spatial conformation

X 4 Number of amino acids

Question ID : 1679437028

Q.7 Which of the fallowing is the most common degencrative joint discasc in the elderly. often cansed by wear and tear?

Ans X 1. Rheumatism

W 2 Osteoarthritis

Question ID : 1679437042




< 3. Rheumatoid arthritis
X 4. Gouty arthritis

Q.8 What is the source of zlucose for glycolysis in non-photosynthetic parts of plants?
o s Bk g g Question ID : 1679437032

Ans  of 1 Sncrose

X 2. Fructose
< 3. Glycogen
# 4. Photosynthesis end product is glucose

Q.g 4 & X L ke 5
Which of the following is a secretion of Brunner’s glands? Question ID : 1679437034

Ans 1. Mucus with HCI
& 2. Secretin
< 3. Chyme with pH 7
o 4. Urogastrone

Q.1o K . . . aga "
Which of the following is not a cause of infertility in a couple? Question ID : 1679437043

Ans 3 1. Sexual dysfunction
< 2. Mental or psychological factors
X 3. Environmental pollutants
v 4 Infrared radiation

Q.11 - .
DNase is a type of: Question ID : 1679437031

Ans  of 1 Hydrolase
/< 2. Lyase
X 3. Ligase

75 4. Isomerase

‘1 2 . . . " . J
Q.12 WWhich of the following is NOT required for blood clotting? Question ID : 1679437037

Ans X 1. Thrombin
' 2. Prostacyclin
& 3. Calcium
# 4 Vitamin K

Q.13 During which of the following process contraceptives are not able to block conception?

Question ID : 1679437044
Ans 5 1. Fertilisation

« 2. Implantation
& 3. Ovulation
. 4 Transport of egg by oviduct

Q.14 i iologi iti « )
‘What happens during the physiological condition called “heartburn Question ID : 1679437039

Ans 1. Inflammation of heart wall
/< 2. Damage to the serous layer of heart wall

3

Irritation in the oesophagus mucosa due to HCI




& 4
Irritation in heart wall due to highly acidic blood

Q.15

Ans

Which condition results in the “birth of fraternal twins”?

- 2

When two sperms fertilise two ovums simultaneously
< 2. When two sperms fertilise one ovum

< 3. When one sperm fertilises two ovums
P

When one sperm fertilises the ovum and zygote divides into two separate cells developing independently

Question ID : 1679437030

Q.16

Ans

‘When there is a decrease in the oxygen concentration in blood. the rate of breathing:

F 0

Increases or decreases depending on the density of blood

!f 2. Increases
75 3. Decreases

2 4. Does not change

Question ID : 1679437027

Q.17

Ans

Which of the following contraceptives also protects against STDs?
v 1. Condom
2 2. Spermicide
/< 3. Progesterone pills
/< 4 Tubal ligation

Question ID : 1679437040

Q.18

Ans

Which of the following does not determine Glomerular Filtration Rate (GFR)?

2

Osmotic force by plasma urea in glomerular capillaries

&2

Osmotic force by plasma proteins in glomerular capillaries

< 3. Hydrostatic pressure in the Bowman’s space

X 4

Hydrostatic pressure in glomerular capillaries

Question ID : 1679437033

Q.19

Ans

Which of the following mammals undergo menopause?
/< 1. Elephant
/X 2. Chimpanzee
< 3. Short finned pilot whale
v 4 Monkey

Question ID : 1679437045

Q.20

Ans

What is “haemoglobin bound to carbon dioxide” termed as?
« 1. Carbaminohaemoglobin

# 2. Deoxyhaemoglobin

# 3. Carboxyhaemoglobin

X 4. Carboxylatedhaemoglobin

Question ID : 1679437038




Section : Subject Related

Q.1 Ifthe plesma glucose concentration is 90mg/1 00ml and GFR is 120ml/min. how much glicose will be filered and
excreted out, respectively. per minite? Question ID : 1679437062

Ans

+ 1. 108 mg/min, almost zero mg
X 2. 98 mg/min, 49 mg/min
& 3. 120 mg/min, almost zero mg
2 4. 90 mg/min, 25mg/min

0.2 . .
What are Nissl bodies? Question ID : 1679437061
Ans

« 1 Site of protein synthesis in neurons
/X 2. Macrophages of CNS
&3

Cells surrounding CSF-filled ventricles in brain

< 4 Most abundant cell types in CNS

Q.3 Our body can acclimatise to high altitude by virtue of which of the following changes?

A Question ID : 1679437064
ns of 1. Increasing BPG concentration

/X 2. Decreasing BPG concentration
/< 3. Increasing the blood volume

/X 4. Decreasing hematocrit

Q.4 Which of the following takes place under the influence of estradiol during embryonic development?
Question ID : 1679437050

Ans

X 1. Development of external genitalia
< 2. Development of seminal vesicle
2 3. Development of wolffian duct

' 4 Masculinisation of brain

Q.5 ; 5 g 3 7 9 »
The large intestine is characterised by which of the following features Question ID : 1679437057

Ans  of 1. Presence of taeniae coli
< 2. Numerous villi
< 3. Less number of goblet cells

2 4 Well-developed plicae circulares

Q.6 Which of the following is not a criteria of five kingdom classification as proposed by Whittaker?
Question ID : 1679437058

Ans X 1. Cell structure
v 2. Mode of locomotion
< 3. Body organisation
& 4 Mode of nutrition

Q.7 In humans, the presence of more than one pair of mamm ands is called as:
- r i e Question ID : 1679437059

Ans

Z 1. Gynecomastia
+ 2. Polythelia
< 3. Polycythemia
# 4 Thelarche




Q8 The mouth parts in insects are the examples of: Question ID - 1679437051

Ans

Z 1. Analogous organs
+ 2. Homologous organs
& 3. Atavism

< 4 Vestigial organs

Q.9 “Taxonomic keys" do not facilitate which one of the following activities?

Ans X 1. Animal identification

Question ID : 1679437052

& 2. Fossil identification
< 3. Plant identification
+ 2 Evaluation phylogenetic history

Q.10 Which of the following features make Ctenophores different from Cnidarians? .
Question ID : 1679437053

Ans o 1. Absence of polymorphism
< 2. Presence of nematocyst
/< 3. Presence of mesoglea
# 4. Absence of larval forms
Q.11 Whatis the term given to signal the build-up due 1o simul 1 f itter by several presymaptic end
Ane bubs e okl e Question ID : 1679437049

« 1. Spatial summation

/X 2. Temporal summation

< 3. Graded hyperpolarising potential
& 4 Graded depolarising potential

Q_1 2 [Inskeletal muscle, the time period when a second action potential can be initinted with stronger stimulus is called as:

Question ID : 1679437054
Ans

« 1. Relative refractory period

X 2. Incomplete refractory period
/< 3. Hyperpolarising phase
< 4. Hyperdepolarising phase

Q.13 Which of the following contributes to high biodiversity in tropics?

Question ID : 1679437066
Ans

< 1. Higher rate of inbreeding among plants
v 2. More stable climate

/< 3. Less competition for available resources

F

Less pressure from pest, parasites and diseases

Q.14 Which of the following chemical reactions is not responsible for the generation of smog?
Question ID : 1679437065

Ans  of 1. Chlorofluorocarbons

/X 2. Sunlight

< 3. Carbon monoxide

/< 4 Nitrogen oxides

Q.15 The sustined but wavering contraction with partial relanation between stimuli in a skeletal nmscle is called:

Question ID : 1679437047
Ans




2 1. Muscle fatigue
& 2. Wave summation
# 3. Muscle tone

v 4 Unfused tetanus

Q.16 Which of the following plant fatty acids is used to synthesise “Omega 67 fats in animals?
Ans X 1. Palmitoleic acid

& 2 Oleic acid

X 3. Alpha-linolenic acid

v 4 Linoleic acid

Question ID : 1679437048

Q17 YWhat is the full form of IUCN?
Ans X 1. Indian union for conservation of nature
< 2. International unit for conservation of nature

&3

International union for conservation of natural resources

-

International Union for Conservation of Nature and natural resources

Question ID : 1679437063

Q.18 Which of the following features is found in males with extra Y chromosome?
Ans 3 1. Oligospermia

v 2. Normal testosterone levels

< 3. Elevated testosterone levels

7 4. Delayed puberty

Question ID : 1679437056

Q19 what is Galactopoiesis?

Ans x1.

Release of milk independent of infant suckling

& 2. Release of colostrum
+ 3 Establishment of mature milk supply

&~ 4

Gathering of substrates for milk production in mammary glands

Question ID : 1679437055

Q.20 Which of the following physiclogical changes is not associated with pregnancy in human females?

Ans X 1. Kidney enlargement
2. Increase in cardiac output
X 3. Increase in respiratory rate

' % Decrease in blood volume

Question ID : 1679437060

Section : Subject Related

Q.1 Which of the following pollutants has direct effect on reproductive health?
Ans  of 1. Tead
& 2. Chlorofluorocarbons

< 3. Nitrogen oxide
# 4. Chlorine

Question ID : 1679437068




Q.2

Ans

The rate of enzyme catalyzed reaction is not dependent on which of the following?
/< 1. Temperature

< 2. Substrate concentration
/< 3. Enzyme concentration

+ 4 Product concentration

Question ID : 1679437074

Q.3
Ans

Which of the following is not a diagnostic eriterion for Polycystic ovary syndrome (PCOS)?

+ 1. Oligomenorrhea
X 2. Hyperandrogenemia
< 3. Presence of polycystic ovary

# 4 Chronic anovulation

Question ID : 1679437067

Q.4

Ans

Which of the following is not present in the cell wall of algae?
v 1. Mannitol
X 2. Algin
& 3. Cellulose
# 4. Pectin

Question ID : 1679437078

Q.5

Ans

Which of the following is true for Lotka-Volterra equation?

F 8

It is the Logistic equation expressing intraspecific competition

&2
It is altogether different from Logistic equation

2 3. Tt is same as Logistic equation

v

It is the Logistic equation expressing interspecific competition

Question ID : 1679437071

Q.6

Ans

Which of the following genus does not show metamerism?
/< 1. Penaeus
& 2 Labeo
v 3. Asterias
# 4 Nereis

Question ID : 1679437083

Q.7
Ans

Aminotransferases and chymotrypsin enzymes are examples of which type of reaction?
& 1. Random bi-substrate reaction
X 2 Oxidation reduction reaction
+ 3 Ping-pong reaction
< 4 Sequential bi-substrate reaction

Question ID : 1679437081

Q.8

Ans

‘Which of the following features are characteristics of Kingdom Monera?
75 1. Unicellular, with cell wall
X 2. Prokaryote, unicellular, without a cell wall

2 3. Prokaryote, unicellular, with a cell wall
v

Prokaryotes, unicellular, with or without a cell wall

Question ID : 1679437076




Q.9 Which of the following is‘are not considered as a part of “five kingdom classification”™ defined by Whitiaker?
Question ID : 1679437086

Ans X 1. Cyanobacteria
X 2. Mycoplasma
v 3 Lichens
2 4 Amphibious plants

Q.10 “Zona pellucida” is dissolved just before which one of the following events? .
Question ID : 1679437080

Ans  of 1. Implantation
# 2. Beginning of cleavage

X 3. Morula formation
X 4 TFertilisation

Q.11 . . . E " X .
Chapatral biome is located in which of the following climates? Question ID : 1679437072

Ans X' 1. Tundra
v 2 Mediterranean
75 3. Temperate

2 4 Tropical

Q.12 g 10
What is “pneumothorax™? Question ID : 1679437069

Ans X 1. Viral infection in lungs

« 2. Collapsed lungs

< 3. Thoracic inflammation

< 4 Bacterial infection of lungs

Q.13 What h to th ivity with dual rise in t ture?
appens to the enzyme activity with a gradual rise in tempera Question ID : 1679437085

Ans - B 1. Increases
X 2. First decreases then increases

v 3. First increases then decreases
/< 4 Decreases

Q.14 Acetyl CoA is formed during catabolism of all EXCEPT which one of the following?

Question ID : 1679437075
Ans  of 1. Nucleic acid

# 2. Proteins
< 3. Carbohydrates

/X 4. Fats

Q.15 The group of spevics that make their living by exploiting the same class of resources in a similer way is called:

Question ID : 1679437079
Ans

/< 1. Resprout species

# 2. Shredders
X 3. Sibling species
v 4 Guild

Q.16 Which of the following is an asexual but not vegetative mode of reproduction in fungi? )
Question ID : 1679437073

Ans X 1. Budding
« 2. Spores




X 3. Fission
< 4 Fragmentation

Q17 WWho coined the term Biodiversity hotspot?
Ans X 1. Ronald Good

« 2. Norman Myers

/< 3. Ernest Meyer

& 4 W. G. Rosen

Question ID : 1679437070

Q.18 Which of the following reactions is catalysed by enzymes Oxygenases?

Ans x1.

Transfer of hydrogen from one substrate to another

2 2. Removal of oxygen from substrate
&3

Transport of electrons from substrate to oxygen
' 2 Hydroxylation of drugs and steroids

Question ID : 1679437082

Q.19 Which of the following plants have haplo-diplontic life cycle?
Ans < 1. Fucus

& 2. Pinus

v 3 Laminaria

& 4 Volvox

Question ID : 1679437084

Q_zo Bilateral true coelomates, with womm-like bodv divided into proboscis, collar and trunk are charactenstic features of
which of the following phrylums?

Ans 2 1. Annelida
v 2 Hemichordata
& 3. Aschelhelminthes
& 4 Chordata

Question ID : 1679437077

Section : Subject Related

Q.1  What will be the trpe of mutation if U is replaced with~G at 9 pesition in the sequence AUGAAGUUUGGC?
Ans - X 1. Inversion

v 2 Transversion mutation

X 3. Frameshift mutation

& 4 Transition mutation

Question ID : 1679437102

Q.Z ‘Which of the following is a process where either of the parental chromosome is modified by methylation to affect its
phenotypic expression?

Ans - X 1. Autosomal inheritance
& 2 Sex linked inheritance
+ 2 Genomic imprinting
X 4 Uniparental disomy

Question ID : 1679437101

Q3  Ap individual can have how many different alleles for a gene?

Ans 3 1. Only one

Question ID : 1679437093




< 2. More than 4
2 3. Many

o 4 Only 2

Q.4

Ans

The DNA damage checkpoint works at which of the following stages of a cell cycle?
X 1. Sand G2
X 2 Gland S
W 3 G1, S and G2

X 4 Only s

Question ID : 1679437092

Q.5

Ans

What is the term given to a chromosomal aberration where 2 sezment of chromosome tumed around 180° within a
chire includi

X 1. Paracentric inversion
X 2 Diacentric inversion

v 5 Pericentric inversion
& 4 Acentric inversion

Question ID : 1679437095

Q.6
Ans

What is the most apparent change traced during evolutionary history of Homo sapiens?
X 1. Walking upright
/< 2. Shortening of jaws
/< 3. Loss of body hair
' 4 Remarkable increase in the brain size

Question ID : 1679437106

Ans

“Agar” is obtained from which of the following?
/< 1. Saraggasum
X 2 Laminaria
v 2 Gelidium
X 4. Fucus

Question ID : 1679437088

Q.8

Ans

Which of the following is a multiple fruit?
« 1. Pineapple

< 2. Tomato

2 3. Apple

/< 4. Mango

Question ID : 1679437096

Q.9

Ans

The rate of transpiration will be maximum in which of the following conditions?

< 1. Both soil and atmosphere are dry
2 2. Soil is wet and atmosphere is humid
/< 3. Soil is dry and atmosphere is humid
« 4 Soil is wet and atmosphere is dry

Question ID : 1679437105

Q.10

Ans

Which of the following is the first carboxylation product of C; plants?
# 1. Oxaloacetic acid
/X 2. Phosphoglyceraldehvde

+ 3. 3-phosphoglyceric acid

Question ID : 1679437099




X 4 Maleic acid

Q11 WWhich of the following is a sex influenced trait?
Ans X 1. Hemophilia
# 2. Achondroplasia

+ 3. Baldness
2 4 Albinism

Question ID : 1679437094

Q.12 Which of the following enzymes are activated in cell death by apoptosis?

Ans X' 1. Protein kinases
o 2. Caspases

< 3. Phosphatases
< 4 Phosphodiesterases

Question ID : 1679437091

Q.13 Ina Hardy Weinberg population, what will be frequency of individual with genotype “AA™ if frequency of
allele *a" is 037

Ans - X1 0.20
v 2 049
X 3 0.81
X 4032

Question ID : 1679437098

Q.14 Which of the following is primarily an embryonic connective tissue?
Ans 1. Adipose

& 2. Reticular

X 3. Areolar

- Mesenchyme

Question ID : 1679437100

Q.15 Tn which part of a leguminous plant, leghemoglobin is present?

Ans X 1. Stem
X 2. Leaves
& 3. Root hairs
v 4 Root nodules

Question ID : 1679437097

Q.16 Which of the following is true for temp dependent sex d ination in all specics of reptiles?

Ans 11_

There is narrow temperature range resulting in both male and female

< 2. Both low and high yield males
< 3. High temperature yield females
2 4. High temperature results in males

Question ID : 1679437104

Q.17 Which of the following epithelial tissue lines the Bowmen's capsule of kidney?

Ans

Question ID : 1679437090

« 1. Simple squamous
# 2. Stratified columnar
X 3. Ciliated simple columnar

2 4 Simple cuboidal

Q18 Which of the following is not an X-linked disorder?

Question ID : 1679437103




Ans X 1. G6PD deficiency
< 2. Red-green color blindness
< 3. Hemophilia
« 4 Achondroplasia

Q.19 Who gave natural classification system of plants based on plant anatomy, ultrastructure & embryology?
Ans - X 1. Carl von Linnaeus

& 2. Carl Wilhelm Scheele
# 3. Whittakar

' 4 G.Bentham and J.D. Hooker

Question ID : 1679437087

Q_zo ‘Which of the following is net areason for change 10 enzyme activity of biolegical enzyimes with mod {pH 5-3)
change in the pH value?

Ans 3¢ 1. Change in substrate binding

&2
Change in charged state of weakly acidic/basic groups

« 3 Loss of secondary structure
#< 4. Change in conformation of catalytic site

Question ID : 1679437089

Section : Subject Related

Q.1 Which of the following statement is incorrect related to nervous system of earthworm?

Ans 11.

Ganglia are located at the interface of two body segments
X 2. Nerve cord bifurcates at the anterior region

< 3. Nerve cord is paired and present ventrally

F

Anterior nerve ring includes cerebral ganglion

Question ID : 1679437108

Q.2 How many types of sperms (2n=46) can be produced by a human male?
Ans X 1. 922

J 3. 223
x 4. 23

Question ID : 1679437122

Q.3 What is the reason of development of root pressure in plants?
Ans 3 1. Passive absorption

« 2. Active absorption

# 3. Both active and passive absorption

< 4 Increased rate of transpiration

Question ID : 1679437109

Q4 Which of the following events inhibits Cdk1 activity?
Ans

# 1. Association with cyclin
+ 2. Phosphorylation at Tyr14 and Tyr 15

Question ID : 1679437110




& 3. Dephosphorylation at Tyr14 and Tyrl5
7< 4 Phosphorylation at Thr-161

Q.5

Coir is extracted from which part of the coconut plant?

Question ID : 1679437118

Ans X 1. Phloem
< 2. Epicarp
& 3. Roots
o 4 Mesocarp
Q.6 Excess of which of the following hormones results in leave abscission in plants?

Question ID : 1679437112

Ans 1. Auxin
v 2 Abscissic acid
X 3. Cytokinin
X 4 Gibberelic acid
Q.7 Which of the following cell junction are present at intercalated discs?

Question ID : 1679437107

Ans o 1. Desmosomes, Adhering and Gap junctions
X 2 Desmosomes
2 3. Adhering and Gap junctions
/< 4 Tight and Gap junctions

Q.8 What is the phenotypic ratio for the progeny of dihybrid cross with recessive epistasis?

Question ID : 1679437116

Ans 18231341
v29:3:4
X39:6:1
X412:3:1
Q.9 Decrease in which of the following factors is the result of Deforestation?

Ans

& 1. Soil erosion
X 2. Land slide
2 3. Soil fertility
v 4 Rainfall

Question ID : 1679437111

Q.10 Which of the following genetically modified vectors was used for transfer of adenosine deaminase gene to SCID

Ans

petients iitially?
& 1. Herpes virus
' 2 Retrovirus
X 3. Adenovirus

X 4 Aeno-associated virus

Question ID : 1679437126

Q.11

Ans

‘What is the function of phenol in genomic DNA isolation technique?

' 1. to extract hydrophobic proteins

X 2 to dissolve RNA
< 3. to make a visible gradient

X 4 to dissolve DNA

Question ID : 1679437121

Q12 which of the following was first Bt crop in India? [

Question ID : 1679437119




Ans

X 1. Com

& 2. Potato
# 3. Tomato
v 4 Cotton

Q.13

Ans

“Apospory” can be observed in which of the following plants?
X 1. Algae
X 2. Angiosperms
« 3. Pteridophytes
/X 4 Gymnosperms

Question ID : 1679437117

Q.14

Ans

Which of the following plants show Kranz anatomy?
X 1. C3plants

o 2. C4plants

X 3. Saprophytic plants

& 4 Algae

Question ID : 1679437115

Q.15
Ans

“Which of the following scientist proved that oxygen is released in photosynthesis during light reaction?

& 1. Black Man
X 2. Robert Emerson
& 3. Daniel I. Arnon
v 4 Robert Hill

Question ID : 1679437123

Q.16
Ans

How many genetically different gametes are possible by an individual of genotype CeWwRr?

v 8
X2 64
X3 16
X 4 36

Question ID : 1679437114

Q.17

Ans

‘What is the probability that a plant with genotype PoWw will be produced by parental plants of genctypes
PpWw and Ppaw?

X113
X212
v 1/4
X 4 3/4

Question ID : 1679437125

Q.18

Ans

What is the end product of glycolysis in RBC?
v 1. Lactic acid

/X 2. 3-phsphoglycerate

X 3. Acetyl CoA

X 4 Pyruvic acid

Question ID : 1679437120

Q.19
Ans

‘Which experimental model were used by Boveri and Sutton to give chromosome theory of inheritance?

/< 1. Grasshopper and sea urchin respectively
< 2. Grasshopper
+ 2 Sea urchin and grasshopper respectively

Question ID : 1679437113




Z 4 Seaurchin

Q.20 At which of the following cell cycle stage cohesion-complex is established in the nucleus?

Ans o 1. S phase
Z 2. G1 phase
# 3. Mand G1 phase
2 4 M phase

Question ID : 1679437124

Section : Subject Related

Q.1 Which ofthe following honey bee products is known to increase the performance of athletes?
Ans X 1. Bee venom

+ 2. Bee pollen
/< 3. Honey
2 4 Royal jelly

Question ID : 1679437139

Q.2 Which of the following antibodies is primarily synthesized during allergy?
Ans x 1. IgD

2 TgE

X 3 IgG

< 4 IsM

Question ID : 1679437138

Q.3 What is a cross between a recessive parent and offspring called?

Ans X 1. Back cross

X 2. Reciprocal cross
2 3. Monohybrid cross
o 4. Test cross

Question ID : 1679437146

Q.4 In which of the following species crossing over is observed in mitosis also?
Ans X 1. Fucus

X 2. Agaricus

+ 3. Drosophila

# 4. Zebra fish

Question ID : 1679437133

Q.5 InaHardy Weinberg population, frequency of a gene is NOT influcnced by which of the following factors?

Ans

& 1. Genetic recombination
& 2. Mutation

# 3. Natural selection

' 4 Natural death

Question ID : 1679437132

Q.6 Which of the following enzymes DOES NOT have a proof reading ability during DNA replication?

Ans X 1. DNA polymerase II
+ 2 Polymerase alpha
X 3. Polymerase epsilon
X 4 DNA polymerase I

Question ID : 1679437136




Q.7

Ans

Who wrote “The Families of Flowering Plants™?

& 1. Braun

& 2. Black Man

& 3. Bentham

+ 4 John Hutchinson

Question ID : 1679437142

Q.8

Ans

Which of the following is surrounded by Accessory cells?

v 1. Guard cells
& 2. Stomata
X 3. Xylem

& 4 Phloem

Question ID : 1679437143

Q.9
Ans

What will be the potential phenotypes in the offspring of parents of blood group A and A?
X1 %A %“Band %4 O
X2 %Band %O
V'3 3% Aand %0
K 4 v Aand %O

Question ID : 1679437129

Q.10
Ans

During cytokinesis in plants, cell plate is formed by which of the following organelle?
& 1. RER
« 2 Golgi complex
& 3. Vacuoles
& 4 SER

Question ID : 1679437130

Q.11

Ans

Which of the following plasmid vector s used mostly in genctic engineering?
X 1. ColEl
« 2. pBR322
< 3. plasmid
4. pSC101

Question ID : 1679437127

Q.12
Ans

Most of the transgenic studies have been performed on which of the following animal models?
& 1. Rodents
W 2 Mice
X 3. Pig
2 4 Sheep

Question ID : 1679437131

Q.13
Ans

‘Which of the following techniques can be used 1o visualize dosage comp ion in Dr

« 1. Autoradiography

< 2. Chromosome banding
< 3. Gel electrophoresis
# 4. 3H labelled DNA

Question ID : 1679437145

Q.14

Ans

Which of the following growth patterns indicates resource limitation?
< 1. Exponential
X 2. Logarithmic

Question ID : 1679437128




o 3. Logistic
& 4 Geometric

Q.15 Where does the Hardy Weinberg Equilibrium exist in nature?
Ans  of 1. Nowhere
< 2. Tropical zone

/< 3. Temperate zone

< 4 Polar regions

Question ID : 1679437144

Q.16 What is the transder of pollen grain: from the anther to the stigma of ancther flower of the same plant called?

Ans

' 1. Geitonogamy
/< 2. Autogamy
/< 3. Xenogamy
2 4 Cleistogamy

Question ID : 1679437140

Q.17 What is the sedimentation coefficient of rRNA present in 30 S ribosomal subunit?
Ans x 1. 18 8

X258

V3168

X 4588

Question ID : 1679437134

Q.18 Which of the following is an exception to the Central Dogma of molecular biology?
Ans  of 1. Retrovirus

X 2. Bacteria

X 3. Virus

& 4. Archaebacteria

Question ID : 1679437137

Q.19 How many linkage groups are present in Drosophila melanogaster?
Ans “ 1.4

X26

X33

X4 8

Question ID : 1679437141

Q_20 A protein containing 400 amino acids will require a zene for at least how many base pair Jong for its synthesis?

Ans - X 1. 1500
v 2. 1200
X 3 1300
& 41000

Question ID : 1679437135

Section : Subject Related

Q.1 Which of the following results in appearance of brown spots surrounded by chlorotic veins in planis?

Ans o 1. Manganese excess
X 2. Molybdenum excess
X 3. Deficiency of Zine
X 4 Deficiency of Manganese

Question ID : 1679437154




Q.2 “Widal test” is a serological test based on which of the following techniques?
Ans X 1. Cell culture

X 2. PCR

X 3. Biochemical

« 2 Antigen-antibody interaction

Question ID : 1679437159

Q.3 Discrete. un-encapsulated aggregate of lymphatic nodules are present in mucosal layer of
which of the following organs?

Ans  of 1 Appendix
& 2 Kidney
X 3. Stomach
/< 4. Ovary

Question ID : 1679437149

Q4 Which of the following drugs is a modification of fungal product?
Ans - X 1. Crack

# 2. Charas

o 3. Lysergic acid diethyl amide (LSD)

# 4 Smack

Question ID : 1679437162

Q.5 Which ofthe following is not a radioactive isotope extensively used in molecular techniques?

Ans of 1. 15y
X 2 l4¢
X3 3g
X 4 32p

Question ID : 1679437153

Q.6 Which of the following plants has been extensively used for production of edible vaccine?
Ans  of 1. Potato

/< 2. Banana
75 3. Lettuce
/< 4. Tomato

Question ID : 1679437164

Q.7 At least how many epitopes an antigen must have in a Sandwich ELISA?
Ans “ 1. Two

X 2. Not required

X 3. One

& 4. More than five

Question ID : 1679437151

Q.8 [n which of the following the enzyme reverse transcriptase is used?

Ans 3 1. Northern blotting
X 2 PCR
< 3. For identifying a gene from cDNA library

' + For creating cDNA library

Question ID : 1679437150

Q.9 Which of the following experimental model is best suited to study natural selection through mutation?

Ans 1. Nice

Question ID : 1679437158

« 2 Microbes




X 3. Algae
/< 4. Humans

Q.10
Ans

What is the temm given 1o the effect of high atmospheric €O which results in i rate of photosy is7

& 1. Green-house effect
X 2. CO, compensation effect

& 3. Climate change
W 4 CO» fertilization effect

Question ID : 1679437163

Q.11
Ans

Which of the following dairy cattle cross-breed is widely used in hilly regions of India?
# 1. Sahiwal
+ 2. Holstein-Friesian (HF)
X 3. Red Dane
/< 4. Jersey

Question ID : 1679437165

Q.12

Ans

What is the optimum temperature for Tag polymerase activity?
X 1. 55°C
V2 72°C
K3 .45°C
X 4 .92°C

Question ID : 1679437147

Q.13

Ans

Which of the following is NOT an example of Adaptive radiation?
v . Human evolution
X 2 Darwin’s finches
2 3. Cichlid fish in the river of East African Rift
< 4. Australian marsupials

Question ID : 1679437157

Q.14

Ans

Which day is designated as international day of Biological Diversity?
o 1. May 22
< 2. May 01
& 3. March 21
& 4 June 05

Question ID : 1679437156

Q.15

Ans

Which of the following micronutrient 5 deficient in plants showing symptems of necrosis, chlorosis and imhibition of
cell division?

v 1K
X 2 Mo
X3S
X 4N

Question ID : 1679437166

Q.16
Ans

“What is the term given to a small molecule which can bind to a preformed antibody but fails te stimulate B cells?

« 1. Hapten
2 2. Antigen

. 3. Bacterial toxin
X 4 Capsid

Question ID : 1679437161

Q.17

Ans

Skin color in humans is an example of which of the following inheritance?

Question ID : 1679437152




+ 1. Polygenic
X 2. Co-dominance
/< 3. Epistasis

# 4 Incomplete dominance

Q.18 Which of the following transgenic animal is used for producing a variant of human tissus plasminogen activator?

Question ID : 1679437155
Ans  of 1. Goat

X 2 Pig
< 3. Sheep
& 4. Rodent

Q.19 Which of the following mineral is required by plants in greatest amount?
Ans X 1. Magnesium

Question ID : 1679437148

2 2. Molvbdenum
+ 3. Nitrogen
2 4 Tron

Q.20 ; : oo : >
Which of the following radiation is not used in cancer treatment Question ID : 1679437160

Ans o 1. UV radiation
/< 2. X-ray
Z 3. Gamma radiation

X 4 Charged particles

Section : Subject Related

Q.1 HIV cennot spread through which of the following ways from an infected mother to her child?
Question ID : 1679437176

Ans X 1. Delivery
+ 2. Sharing meal
/< 3. Pregnancy
< 4 Breast feeding

Q.2 “Cyclosporin A” is an immunosuppressive agent, nsed in organ transplant patients produced by
which of the following organisms? Question ID : 1679437183

Ans o 1 Fungus
< 2. Transgenic animals
& 3. Bacteria
X 4 Algae

Q.3 . . . .
Which of the following is an inducer of lac operon? Question ID : 1679437167

Ans  of 1. Allolactose
& 2. Glucose
& 3 Galactose
X 4 Lactose

.4 K . . " “ " .
Q4 Which of the following is national aquatic animal of India? Question ID : 1679437170




Ans X 1. Turtle
« 2. River Dolphin
# 3. Tortoise
X 4 A type of Fish

Q.5 What would be the Respiratory Quotient if pure proteins are usad as respiratory substrates?
Ans X 1.0.7

Question ID : 1679437173

v 2 09
X3 1
X406

Q.6 Avian flu virus CANNOT spread through which of the following medinm?

Question ID : 1679437181
Ans J 1 Ajr

X 2. saliva
X 3. Nasal secretion
/< 4. Feces

Q7 : ; 5 % s i 5
Which of the following pair is incorrect modification of plant parts? Question ID : 1679437175

Ans 3 1. Thorne-Axillary buds

X 2. Flower-shoot modification
X 3. Prop-root modification

W 4 Colocasia-modified root

Q.8 The cellular respiratory pathway is categorized as which type of following metabolic pathways?

A : Question ID : 1679437169
ns X 1. Catabolic

& 2. Anabolic
« 2 Amphibolic
/X 4 Black Man pathway

Q9 What is the function of stilt roots? Question ID - 1679437171

Ans X 1. Storage of food
< 2. Storage of food and water
+ 3. Provide support to plant
< 4 Get oxygen for plant

Q.10 Along with Lacrobacillus which of the following micro-organism is used to make yogun?
Question ID : 1679437177

Ans B 1. 8 cerevisiae

o 2. 5. thermophilus
X 3. S acidophilus

X 4 P sharmanii

Q.11 “Cyathium infl » is characteristic of which of the follow >
R RSO ae Question ID : 1679437179

Ans  of 1. Euphorbia

/< 2. Brassica
X 3. Citrus




& 4 Hibiscus

Q12 « r o R : o
The Neel Kranti mission” is related to which of the following? Question ID : 1679437186

Ans X 1. Water purification
« 2 Fish and fisheries

X 3. Ozone replenishment

# 4. Plants and plant products

.1 3 . . - . - - - . -
Q.13 Which of the following antibiotics inhibit cell wall synthesis? Question ID : 1679437178

Ans  of 1. Penicillins
2 2. Aminoglycosides
& 3. Nitrofurans
< 4. Chloramphenicols

Q14 which of the following is a pentameric antibody? Question ID - 1679437168

Ans X 1. IgE
v IgM
X 3 IsG
X4 IgA

Q.15 Which of the following molecular technique is used extensively for preparing a karyotype?

Question ID : 1679437180
Ans  of 1. FISH

< 2. GISH
X 3. PCR
X 4 ELISA

Q.16 Tn which of the followi f xylem lignin is absent from the cell wall?
vichos b Rilownegmivo yion Lemn s e fum e ol v Question ID : 1679437184

Ans X 1. Xylem fibers

& 2. Tracheids
X 3. Vessels
« 4 Xylem parenchyma

Q17 Wirho is the Father of Ecology in India? Question ID - 1679437185

Ans  of 1. Ramdeo Misra
/< 2. G.N. Ramachandran

X 3. Alexander V. Humboldt
< 4 Panchanan Maheshwari

Q.18 Hyper-accumulator plant species can be used for which of the following process?
P i e Question ID : 1679437172

Ans - X 1. Bio-fertilizers
+ 2 Phytoremediation

X 3. Biofortification
# 4 Bioremediation

Q.19 ; 5 = g 2
What is the term given to the arrangement of leaves in a plant stem? Question ID : 1679437174

Ans




& 1. Inflorescence

< 2. Phylloclade
X 3. Origami
+ 2 Phyllotaxy

Q.20 In animal breeding, what is the outcome of continuous and closed inbreeding of animals?
Question ID : 1679437182

Ans < 1. Increased heterozygosity
« 2. Reduced fertility
X 3. Increased productivity
2 4 Increased fertility

Section : Subject Related

Q.1 What is the process of inducing a woman to release more than one egg in a month called?

. . . Question ID : 1679437192
Ans X' 1. In-vivo fertilization

& 2. Qvarian stimulation
< 3. Ovulation induction
' 4. Superovulation

2 .
Q2 wwhat is GEAC? Question ID : 1679437205

Ans

& 1. Gene Expressing Authorizing Company
< 2. Genomic Expression Approval Committee
7 3. Gene Engineering Approval Committee
« 4 Genetic Engineering Approval Committee

0.3 3 3 g
How many layers are present in a Tropical Rainforest? Question ID : 1679437187

Ans - X' 1. More than 5
v a
X35
X4 3

Q.4 “Anorchid growing on a tnango branch” is an example of which type of population interaction?
Question ID : 1679437196

Ans - X 1. Parasitism
X 2 Mutualism
X 3. Amensalism
v 4 Commensalism

Q.5 Which of the following traits of Pea plant is NOT considered by Mendel? )
Question ID : 1679437204

Ans 3 1. Seed shape

X 2 Seed color
v 3 Pod size
< 4 Flower color

Q.6 In humans, which of the following is the site of maximum fertilization? )
Question ID : 1679437191

Ans 1. Uterus




# 2. Ovary
X 3. Cervix
v 4 Oviduct

Q.7

Ans

What is pollination by bees or bumblebees is termed as?
2 1. Myrmecophily
< 2. Entomophily
o 3 Melittophily
< 4 Anemophily

Question ID : 1679437197

Q.8

“Darwinian fitness™ is related to which of the following aspects?

Question ID : 1679437201

Ans 3 1. Psychological fitness
< 2. Stable population
+ 3. Reproductive fitness
/< 4 Physical fitness
Q.9 “DesertLizard ke i body gt iy consun s a el o€ whichypeof o wing adeptions?

Ans

& 1. Structural
v 2. Behavioral
< 3. Physiological
2 4. Reproductive

Question ID : 1679437188

Q.10 Which of the following is NOT used as fasogen in somatic cell hybridization?

Ans

< 1. NaNO3

X 2 PEG

o 3. Agar

X 4 High pH/Ca?

Question ID : 1679437206

Q.11
Ans

At which stage of menstrual cycle the concentration of Luteinizing hormone (LH) is maximum?

v 1. Just before ovulation

X 2. Throughout the ovulatory phase
/< 3. Just after ovulation

< 4. At ovulation

Question ID : 1679437203

Q.12 Which of the following molecule pose hindrance in utilizing Single Cell Protein (3CP) 25 major food in humans?

Ans

X 1. Fat

& 2. Lipids

# 3. Protein

v 4 Nucleic acid

Question ID : 1679437190

Q.13 Which of the following is not force of interaction in antigen-antibody complex formation?

Ans

v 1. Covalent bond
. 2. Hydrophobic
< 3. Hydrogen bond
X 4 Van-der Walls

Question ID : 1679437194




Q.14 The saprophytes are placed at which tropic level in an ecological pyramid of biomass?

Ans 3 1. Primary consumer

/X 2. Primary producer
X 3. Secondary consumer

o 4 Nowhere

Question ID : 1679437189

Q15 Which of the following is a plant cytokinin receptor?
Ans x 1. CRK 1

X 2 ABP 1

X 3 CRHR 1

v 4 CREI1

Question ID : 1679437198

Q.16 What is the term given to the expansion of a species niche due to lack of a competitor species?

Ans X 1. Niche overlap
X 2. Competitive exclusion
o 3. Competitive release
X 4. Realized niche

Question ID : 1679437195

Q.17 The genetically modified “Golden rice” is rich in which of the following vitamins?
Ans X 1. Vitamin D

X 2 Vitamin B

/< 3. Vitamin By

v 4 Vitamin A

Question ID : 1679437202

Q.18 Which of the following elements are responsible for algal bloom?
Ans X 1. Calcium

# 2. Carbon

# 3. Sulfates

« 4 Nitrates and phosphates

Question ID : 1679437193

Q.19 Which of the following organisms were first to evolve on the earth?
Ans X 1. Chemoheterotrophs

+ 2. Chemoautotrophs
X 3. Eukaryotes
< 4 Autotrophs

Question ID : 1679437199

Q.20 “Red Data Book” give information related to which one of the following?

Ans

X 1. All existing species
' 2. Endangered species
X 3. Threatened species
X 4 Vulnerable species

Question ID : 1679437200

Section : Subject Related




Q.1 The two much desirable benefits of integrating Music into school subjects are:

Ans X 1. Language development and concept clarity

2
dfgeloping language and reasoning, and improving memory and retention

X 3
Better understanding of concepts and improved learning pace

F
Improved peer relation and recognition for the school

Question ID : 1679437218

Q-2 gelect the correct option to complete the following sentence.

Scope for non-verbal communication is more in:
Ans  of 1. Life Sciences

/X 2. Algebra
/< 3. English Literature

X 4 Environmental Science

Question ID : 1679437211

Q.3 Select the correct option to complete the following sentence.

One of the objectives of summative evaluation is:
Ans X 1. giving feedback to the student
< 2
testing the student’s learning in the middle of a session
X 3. giving response to the student
v

testing the student’s achievement at the end of a session

Question ID : 1679437223

Q4 Select the correct option to complete the following sentence.

BCC in e-mails differs from CC in that:
Ans X 1. BCC hides the sender’s e-mail address
+ 2 BCC hides all the recipient e-mail addresses

& 3. BCC is sent over a secured connection
X 4 BCC supports attachments

Question ID : 1679437220

Q.5 Select the correct option to complete the following sentence.

Teacher can support Sneha, a dyslexic child, by:
Ans 3 1. allotting a buddy
« 2. giving printed notes
X 3. giving more writing practice

X 4. giving remediation

Question ID : 1679437226

Q_6 The teacher asks the children to tweeze cotton and pasie it on the picurs of a duck. Development of which ofthe following
domams 1 teking place through this activity?

Ans 1. Social
X 2. Creative
/< 3. Emotional

Question ID : 1679437207




v % Fine motor

Q.7

Ans

Select the correct option to complete the following sentence.

Ozone depletion is an adverse effect of:
# 1. natural calamities
v 2. urbanisation
& 3. deforestation

X 4 unseasonal rains

Question ID : 1679437221

Q.8

Ans

Select the correct option to complete the following sentence.

Bloom’s cognitive domain include:

v

Knowledge, Comprehension, Application, Analysis and Evaluation
X 2. Interest, Values, Knowledge and Analysis
)

Receiving, Responding, Attitude, Evaluation and Comprehension

X 4
Knowledge, Application, Values and Interest

Question ID : 1679437214

Q.9

Ans

One of the critical aspects of Reflection is:
X 1. remembering events and incidents
X 2. making notes immediately
X 3. writing clearly

- being critical about self and situations

Question ID : 1679437224

Q.10

Ans

Select the correct option to complete the following sentence.
FLAW — Functional Literacy for Adult Women — was initiated by ICDS in the year:
X 1. 1088-89
v 2. 1975-76
X 3.1970-71
X 4 1990-91

Question ID : 1679437208

Q.11

Ans

Select the correct option to complete the following sentence.

The impact of effective inclusive practices can be evidenced in:
# 1. good teachers
& 2. excellent infrastructural provisions

- 5

academic and social progress of students of the marginalised group

X 4 lesson plans

Question ID : 1679437225

Q.12

Ans

Select the correct option to complete the following sentence.

The first Indian university for women (SNDT) was founded on:

W 1. 2 July 1916
2 2. 2 July 1926

Question ID : 1679437213




X 5. 2 July 1920
X 4 2 July 1912

Q_1 3 Selectthe comect option o complete the following sentence

Tn the process of mastering indey reading =kills, a3 indi goes through the different stages in the following sequence:

Ans “fq_

Recognition stage — Structuring stage — Interpretation stage

2,
I\if‘:de} reading — Structuring stage — Understanding stage

53
Imitation stage — Recognition stage — Demonstration stage

p

Recognition stage — Interpretation stage — Structuring stage

Question ID : 1679437216

Q.14 Select the correct option to complete the following sentence

An infer-connection of two or more s crested for exchanging i onamong th is known as:
Ans X 1. Webpage

& 2. Internet

v 3 LAN

X 4 WAN

Question ID : 1679437219

Q.15 Select the correct option to complete the following sentence.
The important attributes that mark a divergent thinker from a convergent thinker are:

Ans 3 1. Fluency and Flexibility
/X 2. Flexibility and Elaboration
X 3. Originality and Complexity
+ 4 Imagination and Originality

Question ID : 1679437217

Q16 1dentify the most appropriate reason.

Checklist does not suit assessing all domains because:

Ans \‘71.

it does not allow recording progress in development
X 2 it is not easy to use

# 3. it is not reliable
X 4 it is very simple

Question ID : 1679437222

Q.17 gelect the correct option to complete the following sentence.

The most appropriate way to study science is by:
Ans 3 1. Discussing
X 2. Doing
< 3. Experimenting

« 4 Asking How and Why questions

Question ID : 1679437212

Q“] 8 Children in & primary class are sitting i goups and pairs, They would like to remain in these groups, We can relate this
observation 1o the Motivation Theory by:

Ans X 1. Hull

Question ID : 1679437210




< 2. Murray

< 3. Tolman
W 4 Maslow

Q.19 Select the correct aption ta complete the following sentence.

An activity to create a folk song and compose music for it is best suited for children with:

Ans 1. musical and naturalistic intelligence

v

naturalistic, linguistic and musical intelligence
X 3. logical and musical intelligence

X 4. linguistic and musical intelligence

Question ID : 1679437209

Q20 Aydio-visual aids are best suited for concepts:

Ans 1. that are difficult
< 2. that are interesting

Vs

that are better understood when visual representations are supported by animations

< 4 when there is excessive time

Question ID : 1679437215
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Select the pair from the options that has the same relationship between the numbers as there exists betwzen the numbers
. pa ! P
ot e pulEgven helow) Question ID : 723053325
4:36::

Ans x1~

=¥

181
49
: 50
18

X 3
X 4

R o L

Q.2 & & 7§ apfy & 3w A 39 & wanfigat #r dfF i SeE et @ A e & 5= wme
e 7=t & Far oo = Question ID : 723053319

ans XK1 3
X28
vz 5
X4

Q.3  Boumar walks 6km to the east and then turns to the south to walk 2 km. He again frns o the east and walks 2 km. Next,
he tums northwards and walks § km. How far is he now from his starting point? Question ID : 723053317

Ans X 1. 8km
v 2 10km
& 3105 km
K 4 12km

Q.4 Youare given two and two conclosions. Read them Iy and decide which of the conclusions logically
i Question ID : 723053314
Sttements:

All bulbs are flowers.
Some flowers are leaves.

Conciusions:
T All bulbs are leaves
M. Allleaves are flowers.

Ans ¥ 1. Only conclusion II follows
< 2. Only conclusion I follows

o 3. Neither conclusion I nor IT follows

& 4. Either conclusion I or II follows

Q.5 Which letter will be 10 o the right of the 18" letter from the right end of the English alphabet series?

Ans x1_ T

Question ID : 723053316




X 2P
vs s
X 4R

Q6 Find the missing term in the below number series. Question ID : 723053320

22,23, 27,36, 52, 77. 113, . 226
Ans X 1. 176

X 2 161

v 3 162

X 4 167

Q.7 7 Ty F1 90 F S A8 78 F 3% 3 3 §EE § W T g5 97 e W € sEEnd g

. Question ID : 723053322
dfoer ; aizar ;s

Ans X1 TH
S cic
X 3. Fepall
K 4 FOET FLAT

Q_8 Raja and Sanjay started walking from certain points towards each other. Raja walked 20 km and Sanjay walked 30 km.
mmr:;:s;f::ﬂ:ﬂn;d Sanjay turned to his right, and they walked 25 kom cach. If Raja is ficing North, which QUeStiOn ID : 723053331

Ans - X 1. West
& 2 South
& 3. East
v 4 North

Q.9 Five friends — Greetha. Seetha. Prestha, Vanitha and Rani — are sitting in a circle. Szetha is sitting between Geetha and
Vanitha, whereas Vanitha is sitting to Rani’s right. Then, who is seated to Prestha’s left? Question ID : 723053321

Ans X 1. Vanitha
X 2. Seetha
v 3 Geetha
& 4 Rani

Q10 Find the missing term in the below series. Question ID : 723053328

Zaby, XcdW, VefU,  RjiQ
Ans X 1. ShgT

V> TghS

& 3. Thgs

X 4 SghT

Q.11 Read the situation below and choose the most logical step vou would take. )
Question ID : 723053327

Your neighbour’s hand is burnt while cooking food. You should:

Ans 11.




dip her hand in water till burning sensation subsides.

K 2

tell your neighbour that she should have been more careful.
/< 3. ignore the situation.
# 4 apply an ointment on the burn.

Q12 Choose the missing character from the given alternatives.

ADo5| BE3s | CFas
DGss| EHss | Flzs
Glgs ? |IL10s

Ans J 1. HKao 5
< 2 Hlos

& 3. KHos
X 4 KLos

Question ID : 723053312

Q.13 IfBIRLA is coded as 92513 and UMPIRE is coded as 487256, then what is the code for UMBRELLA?

Ans X' 1. 48959113
X 2 48659113
X 3. 48695113
W 4 48956113

Question ID : 723053323

Q.14 Out of the four given altematives, choose the most appropriate description about the three words given below.

BIBLE | GITA : QURAN

Ans X 1. They are sacred books of a few Indians.
~ 2

They teach that Hindu, Muslims and Christians are different.
o 3. They are the holy books.
< 2. All of them are written in Urdu language.

Question ID : 723053329

Q15 Choose the missing character from the given alternatives.

Question ID : 723053324

Ans  of 1. 343
X 2 356
X 3. 256
X 4 396
Q.16

Question ID : 723053330




You are given a statement and two conclusions. Read them carefully and select the option(s) that logically follow(s) from L

the statement.

Sulement:
*Our X' brend mobile phones are best in picmure clavity and muliplicity of functions.” — An adverti on TW.

CTCM;I\’F“EES 1 wide range of viewers,
L. People Inok for picture clarity and multiplicity of finctions in a mobile phons,
Ans X 1. Either conclusion I or II follows

Z 2. Only conclusion II follows

' 3 Both conclusions I and II follows

< 4. Only conclusion I follows

Q.17 Read the following information carefully and answer the question given below.

Question ID : 723053326

@ denotes *greater than’:

f denotes *less than':

¥ denotes ‘not greater than’:
4 denotes *equal t0’;

¢ denotes ‘not less than';

IfY & 2Z and 3Z ¥ X, then which of the following is true?
Ans X1 Y68 X

X2 Yp2Xx

vivYgX

X4 3Ya 2X

Q.18 Inacertain code. PAPER is written as QCSIW. How is HOSTEL written in the same code?

Question ID : 723053315

Ans X 1. IQUXIQ
X 2 IQVXIR
& 3. IQUXIR
o 2 IQVXIR

Q.1 Q Consider the following venn diagram.

Question ID : 723053313

Hindu 'TB K\ 12 Indian Fxpress
B, )
165,15

\w-..ﬂ./
India Today

The mumbers in the Venn diagram indicate the number of persons reading various aewspapers. The diagram is drawn after
surveying 100 persons. Ina population of $.000, how many can be expected 1o read at least two newspapers?

Ans X 1. 2,750
& 2. 2,900
X 3 2.875
o 2 2,850

Q.20 ‘C § D’ means ‘C is the mother of D';
‘C # D’ means ‘C is the father of D’;

Question ID : 723053318

‘C (@ D’ means ‘C is the daughter of D*;
Now, if P $ Q # R @ S, then which of the following is NOT true?

Ans  of 1. Q is the wife of S




& 2. R is Q’s daughter
& 3. P is mother-in-law of S
X 4 S js the wife of Q

Section : General Awareness

Q.1

Ans

In which state is the Kanha National Park situated?
/X 1. West Bengal

& 2. Uttar Pradesh
#< 3. Chhattisgarh

« 2 Madhya Pradesh

Question ID : 723053335

Q-2 What has been set as MSP for jute per quintal for 2018-19? Question ID : 723053351
Ans of 1. 3,700

X 2 4,200

X 3. 33,500

X 4 T3.100
Q3 frffle & & #ia & Fdvar A o & A7 oF ¥ s

Ans

v . 3ERT 3T 3TcATREE W oTH w9
X2 @ & gaeT Fr FEFE
Xs.mma-ﬂ'?fmmaﬁqgam
A4 = wAT F eaw

Question ID : 723053334

¥ R F¢ 3c0a %8 Ts7 F A= F1ar §7 Question ID : 723053342
e Ko AfrR

v BEE

K 3 FAremelE

X 4 HEH
Q.5 The Gobar-Dhan Scheme was launched at National Dairy Research Institute.

Ans

& 1. Hisar

< 2. Rohtak
v 2 Karnal
< 4 Ambala

Question ID : 723053349

Q.6

Ans

The Comptroller and Auditor-General of India is appointed by:

Question ID : 723053337




& 1. the Vice-President of India
< 2 the Prime Minister of India
& 3. the Chief Justice of India
« 4 the President of India

Q7 Fregz s ‘ot O3 =Ry T = B F oww Fa Question ID : 723053332

Ans X1 AgTae 3 e
X2 gAY Tog 919

v 2 greTeTg AR
X 4 HeA HIES FAaT

Q.8 Ty ﬁ. '@l’ e | Hﬁ' %—7 Question ID : 723053338
Ans K1_

=TI T T=T &7 Furey 9ftsg &7 &1 #3ar gl

v

TF U= Rua 9lwe 7 Ruea & B o1 g §

X 3.

TH T # fdure ofwe of= @ ag & & Sy g

X 4

T =T &7 9ua 9iue o § 91 97 & Jar ¢l

Q9 In which state is the Anantagiri Hills located? Question D : 723053336

Ans X 1. Andhra Pradesh
< 2 Kerala
o 3. Telangana

& 4 Karnataka

Q.10 Which rank did India occupy in Global Optimism Index released as part of Grant Thoruton’s International Business
Report (IBR) in the first quarter of 20187 Question ID : 723053341

Ans X 1 g
X2 3
VN
X 42

Q.11 Who established the Darpana Academy of Performing Arts in Ahmedabad? .
Question ID : 723053344

Ans 1. Sonal Mansingh
' 2 Mrinalini Sarabhai
# 3. Rukmini Devi Arundale
/< 4 Yamini Krishnamurthy

Q.12 The satutory power for exchange control was provided to the RBI by the Foreign Exchange Regulation Act (FERA) oft

Question ID : 723053340
Ans 1. 1981




X 2. 1963
X 31923
W 4 1947

Q.13 Who holds the record for the “highest number of wickets™ across all scasons of IPL as of April 20187

A i ; Question ID : 723053346
ns X 1. Ravichandran Ashwin

& 2. Umesh Yadav
' 3. Lasith Malinga

#< 4. Harbhajan Singh

Q14 Where is the headquarters of UNICEF located? Question ID 723053348

Ans X 1. Paris
v 2 New York
& 3. London
/< 4. Shanghai

Q.15 How many Olympic Medals has India won in the sport of wrestling so far? .
Question ID : 723053345

ans of 1.5
X22
K33
X4 7

Q.16 =vew aiwAT em & a7 e SE-aim e f T # sEeue & 8 S F B ana
T # e R e & W e A g i i Question ID : 723053350

Ans

X 1. 9T =T "@ued (WHO)
X 2 gAa% (UNICEF)

K 3 TSI HAT F (IMF)
v+ T2 9% (World Bank)

Q.17 The NowCeoy M was discontinued by Mabatma Gandhi in 1922 becanse a crowd of protestors set fire to a
AR Question ID : 723053333

Ans X 1. Vaishali
& 2 Sabarmati
& 3. Wardha
' 4 Chauri Chaura

Q.18 The noted musician Arvind Parikh is associated with which of the following musical instruments?

A a Question ID : 723053343
ns X 1. Shehnai

& 2. Mridangam
& 3. Sarod
v 4 Sitar

Q19 Rt Trowr & TeTeTe hES SEE THed HwT # @ TR 7 |




K TERE T & e
X2 qRaT & HelAl Tt
X o 97T & TE HA
v i oE F Tt

Question ID : 723053339

Q20 Which mirror is used in the headlight of cars?
Ans 1. Rectangle mirror

& 2. Convex mirror
& 3. Plane mirror

v & Concave mirror

Question ID : 723053347

Section : Arithmetic Ability

Q.1 ©Onselling an article at 20% discount on its marked price, therz isa loss of ¥24. If it &5 sold at the marked price. then
profit is 15%, What is the value of x?

Ans X' 1. 10%
W 2 8%

Question ID : 723053361

X 3 12%
X 4 99
2 (12.127—(2.12) 2 _
Thevaligof—— == & (”'28'”) i Question ID : 723053353
(0.25)2+(0.25)(19.99) 3.6x0.02
Ans X 1.0.6

X204
X312
W08

Q3 A person rows upstream for a distance of 21 km and returns 1o the starting point, He completes this joumey in 10 hours.
If the tinve taken by him in going 7 lm downstream is equal to the time taken in going 3 km upstream, then whot is the
speed of the current?

Ans X 1.3 km/h
X 2 B%km-’h
V'3 2 km/h
x 4. 1§km,-11

Question ID : 723053364

A Band C working together can lete @ task 0 18 days. B takes double the time that A takes and C takes double
K g g conp)
the time that B takes o complete the task. They werk together for 4 days. A alone will complete the remaining task in:

v a2l 24% days

Ans

X 2 2(}2 days
< 3. 20 days

Question ID : 723053365




< 4 24 days

Two alloyz A and B contain and zincin the ratio 4: land 3: 3, tively. They are mixed intheratio 9 : 4 to
. copper respecinvery ¥
get a new alloy C. What is the ratio of copper and zine in alley €7

Ans X1 16: 17

W2 87:43
X317:18
X4 13:12

Question ID : 723053359

Q_6 The sum and difference of LCM and HCF of two niambers are 592 and 518, respectively, If the difference of the
numbers is X and their sum is 296 then the valuz of x is:

Ans X1 148
X 2 37
W3 74
X 4111

Question ID : 723053357

Q.7 i
On simplification, 35— reduces to:
5T 7 ©

o o
9 1+%

Ans {1.
~ 2

X 3
X 4 45

Bl @ir O

Question ID : 723053356

Q.8 Anilspends 90% of his salary. Suppose bis salary increases by 32% and savings increase by 5(%, what is the
percentage increase in his expendinire?

ans of 1. 30
X2 25
K3 32
X 4 36

Question ID : 723053360

Q.9 A person has 1323 mangoes. 2457 apples and 2835 oranges, He wants to pack them in boxes 3o that each box has equal
number of fruits of the same kind. The least aumber of boxes will be;

Ans X154
2 35
X3 20
X 4 28

Question ID : 723053358

Q.10 =X 375RE FMER UAAS PiF & AT TF g0 = &, & a7 wEw o g8 qET

Ans 1169
X 2 324
X 3 289
v 4 225

Question ID : 723053352

Q.11

Question ID : 723053354




The value of 5+[f +{2—2{5—3}+15}—1u}+5
2+E{29—{2u+3] +2of 4,3] "
Ans X102 and 0.3
X2 0.1and0.2
V'3 0.3 and 0.4
X 4 04and0.5

lies between:

Q.12 Fﬁ?mﬁﬁm(ﬂﬁ}a.bﬁrfﬂ?n<bcfa‘&ﬁa=s.b=9 ;ﬁ:mq:r
ey gl geAT & AR BT AU ¥ § ReiEE & E A o & AW Ee

Ans X1, 8
V2 742
K3 82
K47

Question ID : 723053363

Q13 1 1. 1 1 1 1 i T
=+ —=t—tF—t—Ft——et—— 1sequal to:
2 5 8 11 20 41 110 1640

Ans X 1. 1.8
X216
X3 2
VES

Question ID : 723053355

.14 Asunof T 13,600 107 16.456 at ¢ d interest in a certain time at a certain mie percent par anmm, What
will the same snm amoust (o0 at the same rate in half the earlier time?

Ans X1 T 14,980
X 2 T 14,840
W 3 T 14,960
X 4 T 15,840

Question ID : 723053362

Comprehension:




follow.

each department of a company.
Department | Males : females
Production 11:8
HR 8:7
IT 35
Marketing 7:4
Accounts 255

department?
Ans x 1. 5:2
i |
|
X 410:9

h

X
w
[ T

SubQuestion No : 15

051 What is the ratio of the total number of males
working in IT and marketing departments to the
numbers of females working in the Production

Total number of employees = 2850

B Production @ Accounts BIT ® Marketing B HR

Study the following pie chart and table and answer the questions that

The following table shows the respective ratio of males to females in

Percentage wise breakup of employees in various departments

Question ID : 723053367

Comprehension:




follow.

each department of a company.
Department | Males : females
Production 11:8
HR 8:7
IT 339
Marketing 7:4
Accounts 2:5

Ans X1 16.2%
v 2 17.8%
X 3 16.4%
X 4 15.8%

SubQuestion No : 16
061 The total number of females working in the HR Question ID : 723053368
department and the total number of males working
in the Accounts department forms approximately
how much percent of the total number of female
emplovees in the company?

Study the following pie chart and table and answer the questions that

The following table shows the respective ratio of males to females in

Percentage wise breakup of employvees in various departments

Total number of employees = 2850

B Production @ Accounts BEIT

® Marketing B HR

Comprehension:




Study the following graph which shows percent profit earned by six
companies during 2011 and 2012. And answer the questions that follow.

Profit = Income — Expenditure

Income—Expenditure

profit = X 100

Expenditure
0
&0

50

Percent profit earned

A B C D E
Companies

SubQuestion No : 17

@1 The expenditures of company A in 2011 and 2012
were ¥ 21 crores and T 25 crores, respectively.
What was the total income of the company in these
two years? (in crores of rupees)

Ans 1. 60.55

v 2 60.85
< 3. 70.52

X 4 70.82

— 12
s (111

Question ID : 723053371

Comprehension:




Study the following graph which shows percent profit earned by six
companies during 2011 and 2012. And answer the questions that follow.

Profit = Income — Expenditure

Income—Expenditure

% profit = : x 100
Expenditure
70
50
g =
@ 5p
5
1]
= ag
55
229 — 2012
g — 3011
I:"T'T. 20
10
0
& B € D E F
Companies
SubQuestion No : 18
Q.'I . .
g Lf the expenditure of company E in 2011 and 2012 Question D : 723053370

was the same, then what was the ratio of incomes

of the company in the same years respectively?

Ans X129 : 31
X2 8:11
W3 28:31
X4 9:10

Comprehension:

Study the following graph and answer the question that follows.

Target and Actual Production of Air Conditioners
(in 1000) of a factory over the period of six months

B Target BACtual

T 65
oA 57
&0 -53
48 50 47 50

e a0 47 o=
40 35
20
20
18

i)

Jan Feb March Aprit May June

SubQuestion No : 19

Q.1
[ Question ID : 723053374




9 What is the difference between the total targeted
production for February. April and May and the
actual production in thousand for January, March
and June?

Ans X' 1. 29
v 2 18
X3 22
X424

Comprehension:

Study the following graph and answer the question that follows.
Target and Actual Production of Air Conditioners
(in 1000) of a factory over the period of six months

B Target HACtual

70 65
; 55 =7
;Z a8 . 50 = g7
P 40 25 28
a0
70
ie
o
Jan Feb March April Way

June

SubQuestion No : 20

@2 The combined actual production of air Question ID : 723053373
conditioners in February and June is what percent

less than the combined targeted production in
January, March and May?

Ans of 1. 20.8%
X 2 19.8%
X 3. 20.4%
X 4 21.2%

Section : General English

Q.1 In the following sentence four words or phrases have been underlined. One of them is incorrect, Choose the incomect word
et e At Question ID : 723053381
Ome who desires wealth and property from God i net a devotes but a slavery of wealth and property becauss, to him, God

is only 2 means o a0 end.
Ans - X' 1. means to an end
& 2 not a devotee

& 3. One who desires

o 2 slavery of wealth

Q.2
Question ID : 723053380




Fill in the blank with the appropriate word.

On Sundays T have my breakfast in bed and spend the morning relaxing with a book.,

Ans  of 1. usually
< 2. rapidly
< 3. frequently
X 4. gradually

Q.3 Choose the passive voice form of the given sentence.

My colleague and I decided we would continue our efforts to conquer the seas.

Ans “1.

It was decided by my colleagve and me that we would continue our efforts to conguer the seas.

X 2

My colleague and I decided we will continue our efforts to conquer the seas.

X 3

My colleague and I decided we would be continuing our efforts to conquer the seas.

F

It is decided by my colleague and me to continue our efforts to conquer the seas.

Question ID : 723053383

Q.4 Inthe following sentence four words or phrases have been underlined, One of them is incorrect. Choose the incorrect
word or phmse from the given options.

Tt was a near- impossible mission. and once maore fare haoded me a faiture when [ could see the finish line and
eXpect to win,

Ans X' 1. handed me
& 2 1could see
/5 3. once more

o 2. expect to win

Question ID : 723053382

Q.5 Fill in the blank with the appropriate idiomatic expression

Why are you 7 You paid no heed when you were warned so many times,
Ans 1. giving yourself airs
& 2. chicken- hearted
o 3. crying over spilt milk

/< 4. beating about the bush

Question ID : 723053388

Q.6 Fill in the blank with the appropriate word/s.

Did your college  in the university tournament?
Ans 1. participated
o 2. participate
#< 3. are participating
& 4. participating

Question ID : 723053379

Q7 Choose the passage that is correctly punctuated.

Ans X1-

Question ID : 723053386




Tt was very dark and windy. Aastha saw the dark clouds and shouted Mother! It's going fo min. Let’s run indoors
quickly.

X 2

It was very dark and windy, Aastha saw the dark clouds and shouted, “mother it's going fo min Let's run indoors
quickly.”

v &

It was very dark and windy. Aastha saw the dark clonds and shouted, “Mother! It's zoing to min. Lat's run indoors
quickly.”

X 4

Tt was very dark and windy. Aastha saw the dark clouds and shouted, “Mother! Its zoing to rain, Let's nm indoors
quickly.”

Q.8 Choose the correct antonym of the underlined word to fill in the blank.

It looked as if the answer to the quiz question was obvious but it tumed out to be .
Ans

« 1. ambiguous
& 2. persuasion
/< 3. transparent
/< 4 predictable

Question ID : 723053377

Q9 Choose the correct synonym of:

oration

Ans X 1. dialogue
o 2. speech
& 3. silence

& 4 attraction

Question ID : 723053375

Q.10 Fill in the blank with the correct word.

The match was quite boring as we could easily predict whowouldbe  winner.
Ans X 1. some
K2 a
v 3. the
A 4 an

Question ID : 723053378

Q_1 1 Choose the most agpropriste indirect narration for the following sentence.

Ravi saic, “Do you understand how difficudt this job is? 1 need ar least four team members to compizte it withun five days.”

Ans x1~

Ravi said if he nnderstands bow difficult this job is? He said he needs ar least four team members to complete it within
five days,

X 2

Ravi says, "D you understand how difficult this job is? I needed at least four team members to complete it within
five days.”

v &

Ravi asked if he wnderstood how difficult that job was and further said he needed at least four team members to
complete it within five days.

F

Ravi asked do you understand how difficult this job is7 T need at least four feam mesmbers to complete it within five days.

Question ID : 723053384

Q12 Choose the appropriate antonym of:

avoid
Ans 1. dodge

Question ID : 723053376




!,2- seek
& 3 kill

< 4 discover

Q13 Fill in the blank with the appropriate idiomatic expression.

Virat Kohli is most batsmen in the world.

Ans X 1. hard and fast
' 2 head and shoulders above
/X 3. keeping an eve on

< 4. leaving no stone unturned

Question ID : 723053389

Q14 Choose the word that is correctly spelt.

Ans &' 1. grammer
& 2. imediate
& 3. recieve
v 4 irrelevant

Question ID : 723053387

Q15 Choose the best option to combine the given sentences.

Ritu felt very offended. She stopped talking to her friend.
Ans x 1.

Ritu felt very offended because she stopped talking to her friend.

W2

Ritu felt so offended that she stopped talking to her friend.

& 3.

Ritu felt very offended that she stopped talking to her friend.

X 4

Ritu felt too offended she that stopped talking to her friend.

Question ID : 723053385

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how vou can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
vour relaxed walking. And the more you become aware of this jov. the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in; men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them. unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone, he is content.

SubQuestion No : 16

Q.1 i 3 : )
. One who is is an aware person. Question D : 723053395

Ans X 1. eats unconsciously
X 2. terribly overweight
o 3. always alert

X 4. always tense

Comprehension:




Q.1
7

Ans

Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how vou can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation: that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
vour relaxed walking. And the more vou become aware of this joyv. the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in; men are dying every day in
Ethiopia because they don’t have food. and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them. unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone, he is content.

SubQuestion No : 17

Choose the most suitable option to answer the Question ID : 723053393

question given below.

What is the irony of life mentioned by the writer?

/< 1. Awareness is essential but it has no effect

X 2. Many people are dying in Ethiopia

X 3. Many Americans are dying due to overeating
W 4

While some people die of hunger, others die of
overeating

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how vou can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do manv
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
vour relaxed walking. And the more you become aware of this joy. the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in; men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone, he is content.

SubQuestion No : 18

Q.1 - :
s Complete the sentence by choosing a suitable Question ID : 723053391

option.

The writer believes that meditation

Ans X 1. must be done many times during the day
< 2. needs to be done for only 20 minutes a day
< 3. can be done only when vou are walking

o 4 is a process that requires consciousness

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how vou can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation: that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do manv
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
vour relaxed walking. And the more you become aware of this joy. the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in; men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone, he is content.

SubQuestion No : 19

Q.1

o Choose the most suitable option to answer the Question ID : 723053394

question given below.

What should you NOT do if you are obese?

Ans X 1. Consult a doctor

X 2. Resist eating too much
X 3. Eat only what your body needs
W 4 Be led by your love for food

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how vou can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation: that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
vour relaxed walking. And the more vou become aware of this joyv. the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in; men are dying every day in
Ethiopia because they don’t have food. and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them. unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone, he is content.

SubQuestion No : 20

.2 . .
Qo Choose the most suitable option to complete the Question ID : 723053392

sentence given below.

When meditation is done with awareness, it:
Ans X 1. is painful and tedious.
o 2 gives a great deal of satisfaction.
# 3. makes you a forgetful person.

X 4 is quite time consuming.

Comprehension:
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Q.1 Iﬁ!ﬁi’ HEear m %-: Question ID : 723053397
A e A e

X 2 #ifaw wgie @
X o geoTHt T T ¥




K 4. FTYfRIRIOT A ggfcd @

Comprehension:

f=fof@T o # cueEs e I8 AT WAl & 3eal
e

g U WH I H S @R, T Ue o sifaw wafe e
FArs W g, Al A OXF AREF a9 H TR g
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SubQuestion No : 2

Q.2
TR T FT FROT %’: Question ID : 723053398
e XK gereeier faEm




Q.3

X 2 AfF Hedt H Fged oo

V'3 FAEA gEOTC

X 4 remtoRs e

Comprehension:
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X 2 e
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Comprehension:
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Question ID : 723053399

Comprehension:
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Question ID : 723053406

Q.13
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Question ID : 723053414

Q.14
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Question ID : 723053407

Q.15

Ans

‘HEUH' e H HI-87 GAE &7
X . FgdITE
X > EeE
K3 deged
-

Question ID : 723053404

Q.16

Ans
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Question ID : 723053413

Q.17

Question ID : 723053403
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Question ID : 723053416

Ans «'1. aﬁ.aﬁ_a;n_
X 2. T FHTAT

X 3 3T W@ AT
X 4 TrerRr @ FIH Rerear

W e F T RS B

Question ID : 723053405

Ans - X 1. FE+TEA
& 2. 3+AT
o 3 3+
& 4. FA+Tdd

Q.20

AR oeg & e &

Question ID : 723053410

Ans X1 HUEIR
X 2 e

Section : Subject Related

Q.1 Which of the following sexually transmitted diseases is not curable?

Question ID : 723053430

Ans 1. Chlamydia
& 2. Gonorrhea
X 5 Syphilis
o 2 Genital Herpes

Q2 What is a “facet” in skeletal system?

Question ID : 723053425

Ans  of 1. Smooth, flat articular surface
#< 2. Sharp, slender projection
X 3. Shallow depression




#< 4. Tube-like opening

Q.3 Which of the fullowing is the outcome when a single unfertilized ege splits before fertilization and is then fertilized by
separmtei spes? Question ID : 723053420

Ans X 1. Fraternal twins
# 2. Identical twins
X 3. Dizygotic twins
4 Half-identical twins

Q.4 In enzyme classification, enzyme “DNA gyrase” belongs to which of the following classes?
Question ID : 723053421

Ans 1. Ubiquitin
X 2. Hydrolase

" 3. Isomerase
X 4 Ligase

Q.5 e § 7 #iq agafes e o w9 & @ A9 & s e Fi w i
Question ID : 723053423

0 agEse # A AR e
X 2 Fg H geraererar
X s g 7 anfae Fifee B Fr A
X 4 Tog H# A o WA

Q.6 Which of the following functions is not regulated by thyroid hormones? .
Question ID : 723053433

Ans  of 1. Synthesis of Vitamin D
& 2. Metabolism of carbohydrates

& 3. Basal metabolic rate
< 4 Blood calcium levels

Q.7 Which of the following does not work as second messenger in cell signaling?

Ans  of 1. Cholesterol

Question ID : 723053435

X 2. cGMP
& 3. Inositol triphosphate

x4. ca+

Q.8 Which gfthe followmg molecules results in maternal gene effect when present in cytoplasm before zyeotic gene
el Question ID : 723053422

Ans X 1. Only RNA
o 2. RNA and proteins
& 3. Only proteins
# 4. Mitochondrial DNA

Q.9 i ; ; ; ing?
What is the basis of molecular technique called therapeutic cloning Question D : 723053419

Ans «1.




Somatic cell nucleus is transferred to an ovum

# 2. A hybrid is produced by sexual means

#< 3. Two somatic cells are made to hybridize

>~ a4

Nucleus of a gamete is artificially introduced to an ovum

Q_‘I 0 Erythroblastosis fetalis is a fatal condition s2en in second child of methers with which of the following blood group?
Ans X 1. O positive

X 2. B positive

o 3. AB negative

X 4 AB positive

Question ID : 723053427

Q.11 At what pH value. a basic amino acid has its isoelectric point?
Ans 1. AtpH=7

W2 AtpH=7

X 3 AtpH=6.8

K4 AtpH=7T

Question ID : 723053418

Q.12 F=RRs & ¥ 5iv o 7= By 3977 Beww F o o v F O weer 57
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Question ID : 723053434
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Question ID : 723053432

Q.14 Gastric intrinsic factor (GIF) is secreted by which cells of the gastric gland?
Ans - X 1. G-cells

v 2. Parietal cells

/< 3. Chief cells

& 4. Foveolar cells

Question ID : 723053424

Q.15 Which of the following formed elements of blood do not have a nuclei?
Ans 1. Neutrophils

< 2. Basophils

Question ID : 723053426




/< 3. Eosinophils
v & Platelets

Q.16 : .
What i1s “HbA1¢™? Question ID : 723053428

Ans X 1. Adult hemoglobin 1
# 2. Sulfated hemoglobin
#< 3. Methylated hemoglobin
o 2 Glycated hemoglobin A

Q.17 which of the following is a condition where rapid muscular spasms oceur due to low cain body fluid?

Question ID : 723053431

Ans 1. Muscle fatigue
/< 2. Rigor mortis

< 3. Wave summation
o 4 Tetany

Q.18 Which of the following diseases is associated with reduced “Lung Compliance™?

Question D : 723053429
Ans X 1. Asthma

# 2 Bronchitis
' 3. Restrictive lung disorder
# 4 Obstructive lung disorder

Q.19 What is the term given to the maximum volume of air a persen can breathe-in after a forced expiration?
Question ID : 723053417

Ans X 1. Total lung capacity
X 2. Inspiratory reserve volume
' 3. Vital capacity
< 4. Inspiratory capacity

Q.20 What is the name given to a centrz for the preservation of dried specimen of plants? .
Question ID : 723053436

Ans X 1. Botanical park
/< 2. Botanical garden

& 3. Museum
o 4 Herbarium

Section : Subject Related

Q_1 Whatis@el:efm given to signal build up due to rep i release of itter by single presynaptic end bulb in
nerVaas el Question ID : 723053439

Ans

/< 1. Spatial summation

& 2. Graded hyperpolarizing potential
# 3. Graded depolarizing potential

o 2 Temporal summation




Q.2 Ozone hole over Antarctica is due to which of the following pollutants?
Ans 1. Nitrogen oxides
< 2. Sulfur oxides

' 3. Chlorofluorocarbons
/< 4. Phosphates

Question ID : 723053455

Q.3 [Immuscle physiology. what s the term given to the larger contractions resulting from stimuli arviving at different times?

Ans X 1. Unfused tetanus
o 2. Wave summation
< 3. Muscle fatigue

& 4 Muscle tone

Question ID : 723053437

Q.4 The establishment of mature milk supply from mammary glands is referred to as:
Ans X 1. Involution

# 2. Lactogenesis
o 3. Galactopoiesis
& 4 Mammogenesis

Question ID : 723053445

Q.5 Which of the following takes place under inflvence of Dihydrotestosterone (DHT) during embryonic development?

Ans X 1. Masculinization of brain

« 2. Development of external genitalia
X 3. Development of seminal vesicle

< 4 Development of wolffian duct

Question ID : 723053440

Q.6 Iftheplasma, glucose concentration is 70 ma/100 mi and GFE. is 120 mlimin, then how much glucose will be filtered
and excreted out per min?

Ans x1,

108 mg/min, will be excreted out at the same rate
< 2. 90 mg/min, 25 mg/min
' 3. 84 mg/min, no glucose will excreted out

# 4 120 mg/min, almost zero mg

Question ID : 723053452

Q.7 =g # qow Soww ARt # S R # @ A TRmER T o 2
AnS 1. areTEOT JuOT

X 2 YT FEEFGER 7H

W = o @ efier i

&4 HA Qﬂ

Question ID : 723053444

Q.8 In humans, what is the term used to describe the development of mammary glands in males?

Ans 1. Polycythemia

Question ID : 723053449




# 2. Thelarche
# 3. Polythelia
« 2 Gynecomastia

Q.g . « . 5
Which of the following is an example of homologous organs? Question D : 723053441
Ans X 1. Wings of birds and bats
o 2. Mouth parts of insects
/< 3. Wings of birds and insects
X 4. Vestigial organs
Q_‘] 0 Which of the following hormones is secreted by placenta with structure and function similar to Lutemizing honnone (LH)?
Question ID : 723053450
Ans  of 1 hCG
/< 2. Progesterone
< 3. hPL
& 4 Relaxin
Q.11 What is the full form of the term GIFT. used in assisted reproductive technology?

Question ID : 723053453

Ans X 1. Gamete in fallopian tube transfer
& 2. Gamete in the fallopian tube
o 3. Gamete intrafallopian tube transfer
& 4 Gamete inside fallopian tube
Q.12 What is the effect of 2. 3 bisphosphoglycerate (BPG) binding with hemoglobin?

Ans

& 1. No effect on O binding

< 2. Increased O affinity for hemoglobin
#< 3. Increased CO> affinity for hemoglobin
' 4 Decreased O, affinity for hemoglobin

Question ID : 723053454

Q.13
Ans

Which of the following plant fatty acids is used to synthesize “Omega 3" fats in animals?
& 1. Oleic acid
o 2. Alpha-linolenic acid
/< 3. Palmitoleic acid
& 4 Linoleic acid

Question ID : 723053438

Q.14

Ans

Which of the following law states the growth is dictated not by the total available resources but by the
scarcest resource?

X Shelford law of tolerance
/X 2. Hardy Weinberg Law

o 3. Liebig’s law of minimum

& 4 Law of diminishing returns

Question ID : 723053456

Q.15




Presence of which of the following is not a characteristic of Ctenophores? l

Question ID : 723053443

Ans X 1. Mesoglea
# 2. Larval forms
« 3. Polymorphism
#< 4. Colloblasts

Q16 YWhat are ependymal cells?

Question ID : 723053451

Ans 3¢ 1. Site of protein synthesis in neurons

#< 2. Macrophages of CNS
# 3. Most abundant cell types in CNS

v 2
Cells surrounding CSF filled ventricles in brain

Q.17 Which of the following germ layers contributes to the formation of genital system?

Ans

Question ID : 723053446

& 1. Mesoderm only

#< 2. Mesoderm and ectoderm

# 3. Mesoderm and endoderm

o 2 Endoderm, mesoderm and ectoderm

Q.18 Which of the following is not a feature of small intestine?

Question ID : 723053447

Ans  of 1. Presence of taeniae coli
& 2. Numerous villi
& 3. Presence of Goblet cells

X 4. Plicae circulares

Q.19 In general. which of the following is the genctic composition of bacteriophage?
Ans X 1. ss DNA

Question ID : 723053448

o 2. ds DNA
K 3 ds RNA
X 4. ss RNA

Q20 YWhich of the following taxons is not a phylum?

Question ID : 723053442

Ans X 1. Arthropoda

o 2 Vertebrata
& 3. Aschelhelminthes
/< 4 BEchinodermata

Section : Subject Related

Q.1 Which of the following is a copper releasing intra uterine device (IUD)?

Question ID : 723053458

Ans X1 LNG-20




& 2 Vaults
v 5 Multiload 375
/& 4. Progestasert

Q.2

‘What will happen to the enzyme activity with gradual decrease in its optimum temperature?

Question ID : 723053475

Ans X 1. Tt will inerease
& 2. Tt will first increase then decrease
/< 3. It will first decrease then increase
o 4 Tt will decrease
Q.3 Creatine kinase catalyzing creatine and ATP o forni creating phosphate and ADP is an example of which type of

reaction?

Question ID : 723053471

Ans X 1. Ping-pong reaction
& 2. Oxidation reduction reaction
+ 3. Random sequential reaction
< 4. Sequential bi-substrate reaction
Q.4 Prokaryotes, unicellular, with or without a cell wall are characteristic features of which of the following kingdoms?

Ans

& 1. Protista
1’2- Monera

/< 3. Fungi
X 4 Animalia

Question ID : 723053466

Q.5

Ans

il | true with body-segr ion-like rings, are characteristic features of which of the following
phylums?

# 1. Hemichordata

v 2 Annelida

& 3. Aschelhelminthes
# 4 Chordata

Question ID : 723053467

Q.6

Which of the following is considered in five kingdom classification by Whittaker?

Question ID : 723053476

Ans - X1 Viroid
& 2 Lichens
& 3. Virus
o 2 Mycoplasma
Q.7 In ZIFT. up to what cleavage stage. the fertilized ovum can be transferred in fallopian tube?

Question ID : 723053457

Ans  of 1. Third cleavage
& 2. First cleavage
/< 3. Fourth cleavage
/< 4 Second cleavage
Q.8 =it & 37 7oy & T AW F T I & 7 Fooww § v B s semt 57 R

Ans

FraT A E e 2

Question ID : 723053469




v 1. gfaEt & qeEsedTe
X 2 =T

X 3. g@eT genfaar

X 4 FBre=

Q.9 In an ecological succession, which of the following is generally a “k-selected” species?

Question ID : 723053462

Ans

« 1. Climax species
/< 2. Seral stage species
X 3. Sustaining species

X 4 Pioneer species

Q.10 Inalgae, fision between one larze, non-motile female gamete and a smaller motile male gamete is termed as:

A : Question ID : 723053463
ns X 1. Anisogamous

< 2. Isogamous
« 3. Oogamous

/< 4. Homogamous

Q.11 F= HiEw TR WA IS & A # T G o ¥ ReeRfee & § B o
& 77 wem @ i Question ID : 723053464

Ans KT ELBT
v Faw
<3 JH3IT

X4.m

Q12 In non-chordates. the nerve cord is: Question ID : 723053473

Ans 1. Altogether absent
& 2 Is dorsal, hollow and single
« 3. Ventral, solid and double
# 4 Ventral, hollow and single

Q.13 Which of the following is a reason of platean in the fourth phase of Sigmeid growth curve?
Question ID : 723053461

Ans  of 1. Resource limitation
X 2 Increased death rate
/< 3. Birth rate is equal to death rate

& 4 Saturation of reproductive capacity

Q.14 Which of the following is not a form of stored food in algae?

Question ID : 723053468

Ans «1. Algjﬂ
#< 2. Mannitol




& 3. Laminarin
& 4 Floridean

Q.‘] 5 Which of the fellowing metsbolite formations is common in the catabelic pathway of fats. proteins and carbohydrates?
Question ID : 723053465

Ans X 1. Glyceerol
o 2. Acetyl CoA
& 3. Glucose
/< 4. Pyruvate

Q"] 6 Which of the following i a natural physielogicsl condition that results in decline in number of ovarian ezgs and drop in

the Jevels of ovarian borriones? Question ID : 723053470
Ans

« 1. Reproductive aging
#< 2. Ovarian cancer

# 3. Hypopituitarism
X 4. Hypothyroidism

Q.17 i i i i 12 ; o
Which of the following reactions is catalyzed by non-protein enzyme Question ID : 723053472

Ans 1. Removal of oxygen from substrate

v &)
Hydrolysis of phosphodiester bonds in RNA

/< 3. Hydroxylation of steroids
#< 4. Hydrolysis of protein

Q.18 Who invented the technique of test tube fertilization in angiosperms?
Ans X 1. W. G. Rosen

Question ID : 723053460

& 2. Deonarayan Misra

s Panchanan Maheshwari
& 4 G.N. Ramachandran

Q19 YWhich of the following plants has diplontic life cycle?

Ans

Question ID : 723053474

< 1. Polysiphonia
& 2. Laminaria
& 3. Volvox

+ 4 Fucus

Q.20 Which of the following is the major cause of “Emphysema™?

Question ID : 723053459
Ans

o 1. Cigarette smoking
& 2. Auto immunity

# 3. Gene mutation
& 4 Bacterial infection




Section : Subject Related

Q_‘] In a Hardy Weinberg population, what will be the frequency of individual with genctype “3a” if frequency of allele “A”
o A .
) Question ID : 723053488

Ans X 1. 00.90
X 2 0.49
W 3 0.09
X 4 042

Q2 YWhich of the following is a plant hemoglobin? Question ID : 723053487

Ans 1. Hemoglobin Alc
X 2. Hemoglobin M
o' 2. Leghemoglobin
/< 4 Hemoglobin S

Q.3 Which of the following environmental factors plays an important role in sex determination in reptiles?

A : Question ID : 723053494
s X 1. Rainfall

X 2. Humidity
o 3 Temperature

# 4 Carbon dioxide concentration in air

Q.4 What will te the type of mutation if “U is replacad with “A™ at 98 positin in the sequence AUGAAGUUUGGC? X
Ans Question ID : 723053492

X 1. Transition mutation

& 2. Frameshift mutation
o 3. Transversion mutation
& 4 Inversion

Q.5 During meiosis I anaphase. spindle fibers from opposite poles attach the kinetochore to separate: .
Question ID : 723053482

Ans

W Homologous chromosomes

< 2. Non sister chromatids

#< 3. Non-homologous chromosomes

& 4 Sister chromatids

Q.6 Which of the following features is not considered for the natural classification system of plants by Bentham and
Hooker? Question ID : 723053477

Ans o 1. Plant genome

# 2. Plant ultrastructure

< 3. Plant embryology

/< 4 Plant anatomy
V7 Crfatte # ¥ B @ et ure R ST 22 Question ID : 723053478
Ans x 1 Fﬂm‘
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A cinar

Q.8

Ans

‘Which of the following epithelial tissues lines the lung alveoli?
< 1. Ciliated simple columnar
# 2. Simple cuboidal

& 3. Stratified columnar

o 2 Simple squamous

Question ID : 723053480

Q.9
Ans

The mesenchyme is an embryonic tissue that primarily gives rise to which of the following tissuss in adults?
/< 1. Epithelial tissue
v 2. Connective tissue
# 3. Neural tissue
/< 4 Muscular tissue

Question ID : 723053490

Q.10

Ans
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Question ID : 723053484

Q.11

Ans

Which of the following viruses will evolve faster than others?
& 1. ds DNA virus
& 2. RNA virus
« 3. RNA virus with short life span
& 4 ss DNA virus

Question ID : 723053483

Q.12

Ans

Prafafa & ¥ #iF @ 7figa v 22
X 1. Fgd
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Question ID : 723053486

Q.13

Ans

‘Which of the following provides evidence for evolution of Homo sapiens?
# 1. Comparative anatomy
& 2. Comparative genome
v 3. Fossil records

#< 4 Comparative biochemistry

Question ID : 723053496




Q.14

Ans

What will be the relative ratz of transpiration. with respect to nmidity in soil and air, when soil is wet and atmosphare
isdry?

& 1. Minimum

X 2. Below average

v 3 Maximum

& 4 Moderate

Question ID : 723053495

Q.15

Which of the following is not a biological oxidoreductase?

Question ID : 723053479

Ans 1. Malate dehydrogenase
# 2. Peroxidase
< 3. Nitrogenase
o 2 Pyruvate carboxylase
Q.16 =¥ TowF fagaw &1 o AW ¥ 5= =1 § 5w To9F #1 v ¥ Uy 1 OTewT 0MH &
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Question ID : 723053485

e X R R
X 2 oifres Raaa
v 3 IR TEae
X 4 grodfes Raaa
Q.17 Which of the following modifications of DNA is the reason of “genomic imprinting™?

Question ID : 723053491

Ans X 1. Glycosylation
& 2. Acylation
o 3. Methylation
X 4. Sialyation
Q.18

Which of the following is an autosomal dominant disorder?

Question ID : 723053493

Ans X 1. G6PD deficiency
« 2. Achondroplasia
/< 3. Hemophilia
/< 4 Red-green color blindness
Q.19 Which of the following is the first carboxylation product of C4 plants?

Question ID : 723053489

Ans % 1. 3-phosphoglyceric acid
& 2. Maleic acid
' 3. Oxaloacetic acid
#< 4. Phosphoglyceraldehyde
Q.20 During programmed cell death. a ccll docs not undergo which enc ofthe following physiclogical changes?

Ans

& 1. Chromatin condensation

/X 2. Caspase activation

Question ID : 723053481




W3

Cellular content leakage to extracellular fluid
/< 4 Blebbing

Section : Subject Related

Q.1 Pentose phosphate pathway is a major carbohydrate meiabolic pathway in which of the following body cells?

Ans X 1. Germ cells
& 2. Muscle cells
v 3 Red blood cells
& 4 Nerve cells

Question ID : 723053510

Q.2 Deforestation results in an increase in which of the following factors?

Ans 1. Soil fertility
X 2. Biodiversity
# 3. Rainfall

o 2 Soil erosion

Question ID : 723053501

Q.3 Which of the following cell junctions are absent at intercalated discs?
Ans X 1. Desmosomes, Adhering and Gap junctions
/< 2. Adhering and Gap junctions

& 3. Desmosomes

« 2 Tight junctions

Question ID : 723053497

Q.4 Which of the following hormones can increase internodal length of genetically dwarf plants?
Ans X 1. Cytokinin

v 2. Gibberellic acid

A 3. Auxin

# 4. Abscissic acid

Question ID : 723053502

Q.5 What is the phenatypic ratio for the progeay of dihybrid epistasis in which both genes are dominant and both are
epistatic 1o each other?

Ans X'1.0:3:3:1
<209:3:4
W3 12:3:1
K409:6:1

Question ID : 723053506

Q.6 Which of the following events stimulates Cdk1 enzyme activity?

Ans 1. Phosphorylation at Tyr14 and Tyr 15
& 2. Dissociation with cyclin
< 3. Dephosphorylation at Thr 161
o 2. Dephosphorylation at Tyr14 and Tyrl5

Question ID : 723053500




Q.7 Which of the following complex holds the sister chromatids together during metaphase?
Ans  of 1. Cohesisn

& 2. Separin

< 3. Adhesin

#< 4 Ubiquitin

Question ID : 723053514

Q.8 What is the function of EDTA in genomic DNA isolation technique?
Ans % 1. To extract hydrophobic proteins

v 2. To inhibit DNase

/< 3. To dissolve DNA

#< 4. To lyse the cell membrane

Question ID : 723053511

Q.9 Which of the following statements is correct with regard to nervous system of earthworm?

Ans X1-

Anterior nerve ring does not include cerebral ganglion
o 2. Nerve cord bifurcates at the anterior region

/< 3. Nerve cord is single and present ventrally

X 4

Ganglia are located at the interface of two body segments

Question ID : 723053498

Q.10 ::lm i: the probability that a plant with genotype ppww will be produced by parental plants of genotypes PpWw and
W

Ans X1 3/4
v 18
X3 1/3
X 4 1/4

Question ID : 723053515

Q_‘l 1 Which of the following molecular aspects was/were known even before the chromosomal theary of inheritance given by
Sutton and Boveri in year 19027

Ans & 1. DNA structure
X 2 Linkage
# 3. Genetic recombination

' 4 Mendelian laws of inheritance

Question ID : 723053503

Q.12 The fisst clinical gene therapy was given in 1990 to rectify which of the following diseases?

Ans  of 1 ADA-SCID
X 2. Hemophilia
#< 3. Cystic fibrosis
& 4 X-linked SCID

Question ID : 723053516

Q.13 How many genetically different gametes are possible by an individual of genotype AaBbCc?

Ans X1~ 36
X2 16

Question ID : 723053504




VAR
X 4 64

Q.14

Ans

The ] of 2n hvtes, without meiosis and spores, from vegetative or asexnal cells of the sporophyte. is
referred 10 as!

v 1. Apospory
X 2. Apogamy
# 3. Polyembryony
/< 4 Apomixes

Question ID : 723053507

Q.15

Saffron is extracted from which part of the Crocus plant?

Question ID : 723053508

Ans X 1. Ovules

/< 2. Stamen

o 3 Stigma

/< 4 Flower petals
Q.16

Which of the following plants does not show Kranz anatomy?

Question ID : 723053505

Ans X 1. Maize
/< 2. Sugarcane
/< 3. Wheat
v 4 Rice
Q.17 Bt toxins are effective against which of the following orders of insects?

Question ID : 723053509

Ans 1. Hemiptera
o 2. Coleoptera
& 3. Siphunculata
X 4. Siphonoptera
Q.18 What is the term given to the water loss by plants in its liquid phase?

Question ID : 723053499

Ans  of 1. Guttation
/< 2. Root pressure
« 3. Diffusion
< 4. Transpiration
Q.19 How many types of gametes are possible with an organism with 2n=247

Question ID : 723053512

Ans x 1. 223
2 512
x 3. 222
x 4. 246
Q.20

Ans

‘Who is considered to be the father of green revolution in India?

Question ID : 723053513




v 1. M. S. Swaminathan
# 2 G.N. Ramachandran
X 3. Deonarayan Misra

#< 4 Panchanan Maheshwari

Section : Subject Related

Q.1 Mammals have evolved from which of the following lineages?

Question ID : 723053534

Ans  of 1. Therapsids

& 2 Dinosaurs
< 3. Sauropsids

& 4 Thecodonts

Q-2 The randomly interbreeding local population is referred to as:

Question ID : 723053535

Ans  of 1. Deme
/X 2. Sympatric population
#< 3. Metapopulation
# 4. Allopatric population

Q.3 Which of the following is the source of new allele of a gene in a Hardy Weinberg population?

Ans X 1. Genetic drift

Question ID : 723053523

o 2. Mutation
X 3. Gene flow
& 4 Natural selection

Q4 Which of the following is surrounded by Guard cells?

Question ID : 723053533

Ans  of 1. Stomata
K 2. Xylem
/X 3. Subsidiary cells
# 4. Phloem

Q.5 By which of the following methods is dosage compensation achieved in Drosophila?

Ans XL

Question ID : 723053536

Is randomly achieved by any one of the methods mentioned in other options here

v %)

Two fold increase in transcription of single male X-chromosome

X 3

Inactivation of one X chromosome in female

X 4

Decrease in transeription by half in both X chromosomes in female

Q.6 What is the sedimentation coefficient of rRNA present in 408 ribosomal subunit? [

Question ID : 723053525




Ans - X 1. 168
X 2 585
W 3 188
X 4 58

Q.7 Long-term storage of pollen grains for crop breeding progranis can be done at which of the following temperatures?

Ans K 1. DESE

Question ID : 723053530

X2 4°C
W3 -106 °C
X 4 -20°C

Q.8 Mmwhichofthe following types of pollination the stigma is pollinated with genetically different type of pollen grains?

Ans

Question ID : 723053531

& 1. Cleistogamy
/& 2. Autogamy
« 3. Xenogamy

< 4 Geitonogamy

Q.9 How many centrioles are present in an animal cell during mitosis?

Ans x1~ Two

Question ID : 723053520

& 2. One
/X 3. None
\’ 4. Four

Q.10 Where are untranslated regions (UTRs) present in an mRNA?

Question ID : 723053532

Ans 3¢ 1. Downstream of stop codon
# 2. Upstream of start codon
# 3. Within translation unit

v 23
Both upstream and downstream of translation unit

Q.11 During metaphase I, the point of contact between homologous chromosomes (tetrad) is termed as:

Ans X 1. Nucleosome

Question ID : 723053524

« 2. Chiasmata
/& 3. Centromere
& 4 Kinetochore

Q.12 Apt:lt:ejnﬁcminhg 200 amino acids will require a gene with a minimum of how many coding base pair long for its
synthesis?

Question ID : 723053526

Ans - X1, 1300
v 2 600
& 3. 1500
& 4900

Q.13 What will be the endosperm genotype if a plant with genotype “AA™ pollinates ancther plant with genotype “az"? [

Question ID : 723053521




Ans o 1. Aaa
K2 AA
<3 AAa
X 4 Aa

Q.14 What will be the potential phenotypes in the offspring of parents of blood groups AB and 0?

Ans X1 3/4 Aand 1/4 O
X2 14A12Band1/40
v 12Band12 A
X4 12Aand120

Question ID : 723053519

Q.15 Which of the following DNA delivery methods was used initially for the development of ransgenic Bt cotton?
Ans 1. Micro injection

X 2. Direct DNA uptake

< 3. Plasmid DNA coated particles

« 4 Agrobacterium mediated gene transfer

Question ID : 723053517

Q.16 The diseases with which of the following genetic abnormalifies cannot be studied using transgenic animal models?
Ans 1. Chromosomal aberration
#< 2. Null mutation

# 3. Single gene mutation

« 2 Polygenic disorders

Question ID : 723053522

Q.17 Which of the following antibodies can cross placenta during pregnancy?

Ans 1. IgD
& 2 IgE
& 3 IgM
o 4 IgG

Question ID : 723053529

Q.18 Which of the following eukaryotic DNA polymerase also have a proof reading ability?

Ans 1. Polymerase beta
/< 2. Polymerase alpha
+ 3 Polymerase epsilon
& 4 Polymerase gamma

Question ID : 723053527

Q.19 Which of the following is the most common cause of common cold?
Ans  of 1. Rhinovirus

/< 2. Archaebacteria

& 3. Influenza virus

& 4 Streptococcus bacteria

Question ID : 723053528

Q.20




During primary succession in water, which of the following stages will come in between “reed-swamp™ and climax
stage “trees”™?

Question ID : 723053518

Ans X 1. Phytoplanktons
# 2. Free floating and rooted submerged plants
# 3. Submerged and free-floating plants
v 4 Marsh-meadow and scrub

Section : Subject Related

Q.1 An inherent problem in making commercial use of recombinant plant proteins is their:

Ans 1. Folding

Question ID : 723053555

# 2. Post translational modification
' 3 Purification
#< 4. Subunit assembly

Q.2 InaSandwich ELISA. the first step is to coat the matrix wells with which of the following molecules?

Question ID : 723053540

Ans  of 1. Antibody
# 2. Enzyme labelled antibody
< 3. Antigen bound antibody
& 4 Antigen

Q3 Inmaolecolar biolozy, an unknown region of a chromosome can be identified with which of the following techmques?

Ans x 1. PCR

Question ID : 723053546

# 2. Southern blotting
« 3. Chromosome Walking
X 4. ELISA

Q.4 The transgenic goat, modified for & variant of humen tissue plasminogen activator, sscretes the desired protein in which
ofthe following body fuids?

Question ID : 723053543

Ans - X 1. Blood
# 2. Urine
X 3. Lymph
v o Milk

Q.5 Which of the following is a type of natural selection that actively selects agains: the intermediate in a population,
favoring both extremes of the phenotype?

Question ID : 723053547

Ans - X 1. Reverse
< 2. Stabilizing
o 3. Disruptive
# 4 Directional

Q.6 Which of the following is the indigenous dairy cattle of India?

Question ID : 723053556

Ans  of 1. Sahiwal




& 2 Red Dane
< 3. Jersey
< 4. Holstein-Friesian (HF)

Q.7 Which of the following diagnostic tests is based on antigen-antibody interaction? .
Question ID : 723053548

Ans 1. UTI (Urinary Tract Infection) test

v 2. Widal test
/< 3. Test for gestational diabetes

X 4 Glucose estimation

Q.8 The plasma proteins made by the liver. whose is is rapidly i i m resp to infection. are refemed to as:
A . Question ID : 723053551
ns X 1. Cytokines
« 2. Acute phase proteins
& 3. Interleukins

& 4 Interferons

Q9 YWhich day is designated as World Environment day? Question ID : 723053544

Ans 1. May 01

& 2 March 21
/< 3. May 22
\,4‘ June 05

Q.10 What is the term given to a set of symptoms shown by an individual in abrupt di inuation or dosage reduction of
same types of medications and recreational drugs? Question ID : 723053554

Ans X 1. Substance use disorder
& 2. Down syndrome

« 3. Withdrawal syndrome
/< 4 Rett syndrome

Q.11 Which of the following is a prevalent cause resulting in the loss of biodiversity in nature?
Question ID : 723053550

Ans

/< 1. Population explosion
& 2. Decrease in mutation rate
/< 3. Stability in ecosystem

o 2 Habitat loss and fragmentation

Q.12 i ine i i i 2
‘Which of the following is a discrete, encapsulated lymphatic organ? Question ID : 723053539

Ans < 1. Tonsils
« 2. Thymus
X 3 Appendix
& 4 Peyer’s patches

Q-‘] 3 Which of the following isotcpes was used by Meselson and Stahl to prove semiconservative nature of DNA replication? [




Ans

X< 1. 32p
X 2 140
X 3 3g
o 2 15y

Question ID : 723053542

Q.14

Ans

Which of the following drugs is a hallucinogen?
o 1. Lysergic acid diethylamide (LSD)

< 2. Crack

# 3. Heroin

< 4 Opium

Question ID : 723053552

Q.15
Ans

The carbohydrate is transported across different parts of the plant through phloem, majorly as:
/1. Glycogen
v 2. Sucrose
/< 3. Glucose
# 4. Fructose

Question ID : 723053549

Q.16

Ans

Which of the following are the rate limiting factors of photosynthesis?
/< 1. Light and temperature

& 2. Light, water and CO;
< 3. Temperature and CO;
o 2 Light, temperature and CO,

Question ID : 723053553

Q.17

Ans

Calenlate the recombinant frequency if the cross between CD/ed x ed/ed has phenotypes and their frequency as
c.d (478); C.D (482} Cd (19); ¢ D (21).

X 1. 8%
W 2 4%
X 3 2%
< 4 10%

Question ID : 723053538

Q.18

Ans

FTSdr H SIS 7E fRE e 1 UE 3EeRr 7
X1 st g
X 2 ofrerfas
X 3 Hg HHA
v . oo

Question ID : 723053541

Q.19

Ans

Which of the following is a co-factor of DNA Taq polymerase?
VARY T
X 2. EDTA

Question ID : 723053537




X 3 calt
X4 cr

020 Pomfafe & @ #iF @1 g R & & s &7

Ans

X1 AT fem

X 2 9f W 3R F7 e

v &)

o 3nhrefr o & 78 & e Foh
X4 mofor F e yenfa feaar

Question ID : 723053545

Section : Subject Related

Q.1 Which of the following practices is not useful in animal breeding for increasing their fertility?

Question ID : 723053572

Ans  of 1. Continuous, closed inbreeding
Z 2. Outbreeding
/< 3. Cross breeding
#< 4. Qut crossing
Q.2 Which of the following is the most abundant antibody isotype in blood (plasma)?

Question ID : 723053560

ans 31 TgA
& 2 IgE
X 3 IgM
W 4 IgG
Q.3 What would be the Respiratory Quotient of completely oxidized carbohydrates?

Question ID : 723053565

Ans x 1. 0.9
X206
X3 0.7
vl
Q.4 The inactivation of which of the following proteins results in cancer?

Question ID : 723053571

Ans 1. EGFR
o 2 p53
# 3. Ras
X 4 Cdk
Q.5 Which of the following is a rare species found in river Ganga of India?

Ans

& 1. Tortoise
« 2. River Dolphin

& 3. Rohu

Question ID : 723053561




X 4 Turtle

Q.6 Cytokines regulate cellular response in which of the following immune defenses of the body?

Ans

+ 1. Both innate and adaptive
< 2. Adaptive only
#< 3. Innate only

#< 4 Does not generate cellular response

Question ID : 723053576

Q.7

Ans

aTer 3 o & T 2 Rt T S A = e
v Ig TR ¢

X 2 g Ig # geuor herar §

X 7g Jgem &

X 4 2 4\F W oS AT G

Question ID : 723053562

Q.8

Ans

ol & & #ia & SR w MephE & FRor e §2
A0 7T aftrer

X 2 Feifar

v g

<4 Tl

Question ID : 723053559

Q.9

Ans

Which of the following proteins is encoded by lac operon?
& 1. Lactase
# 2. Allolactase
« 3. Beta-galactosidase

X 4 Glucokinase

Question ID : 723053558

Q10 WWhich of the following plants does not have stilt roots?

Ans

& 1. Saccharum officinale
« 2. Ficus benghalensis

X 3. Triticum vulgare
/& 4. Zea mavs

Question ID : 723053569

Q.11 The induction of a plant's flowering process by exposure to prolonged cold is referred to as:

Ans

#< 1. Inflorescence
< 2. Phyllotaxy
/< 3. Phylloclade

' 4 Vernalization

Question ID : 723053566

Q.12 Which of the following body fluids is not a usual medium for spreading HIV/AIDS?

Ans

Question ID : 723053568




/< 1. Blood
v 2 saliva
/< 3. Semen

X 4 Vaginal secretion

Q.13 Which of the following immunosuppressive agents is obtained from fungi?
Ans 2 1. Dexamethasone
o 2 Cyclosporine A
#< 3. Prednisone

X 4 Sirolimus

Question ID : 723053573

Q.14 Gt o sz # gim vt & douR F B S gt 9t & sTEEr = e 2

e ¥ 1. 37 38TE (Bio-fertilizers)
X 2 3= gEdaoT (Bio fortification)

X 3. A3 zas (Micro remediation)
v . wreEfEETeE

Question ID : 723053564

Q15 Brmfafea & @ %19 @ wF 5% (phloem tissues) o 37

Question ID : 723053574

Ans 1 ot wEeT (Phloem fibers)
< 2
rary NAFEAT (Phloem parenchyma)
X 3. mgaEfT #fRET (Companion cells)
< a4
Tl YT dcd (Sieve tube elements)

@1® ayreie = (prop roots) F FAT FF E?

Question ID : 723053563

e X ot F BT e 9T F5
v 2 ot Fr 3aRET R 9T &=
X 3 HisTT FT HEROT
A4 oree 3T Ol F e

Q17 mfdw "wenfhs e g e § 5w 3w Reww F @ e 8

Question ID : 723053557

s o1 eI
X 2 grEdEeEE
X 3. corERTeTafes Beas
< 4 grEvRelEE

Q.18 Metaphase chromosomes are arranged in which order in a karyogram? [




Ans X 1. Random
& 2. Ascending

# 3. Sex chromosome followed by autosomes

o 2 Descending

Question ID : 723053570

Q.19 Ramachandran plot is used for deciphering which of the following aspects of biomolecules?
Ans X 1. Protein function

#< 2. Peptide bond length

v 3. Protein structure

& 4 Amino acid sequence of a polvpeptide

Question ID : 723053575

Q20 WWhich of the following is incorrect modification?

Ans  of 1. Garlic-modified flower
& 2. Onion-modified leaves
& 3. Colocasia-modified stem
& 4 Carrot-modified root

Question ID : 723053567

Section : Subject Related

Q.1 Which of the following enzymes is raleased by sperm fo penetrate through follicular cell fayer surmounding ovum?

Ans o 1. Hyaluronidase
& 2 Lactase
/< 3. Collagenase

< 4 Peptidase

Question ID : 723053582

Q.2 Which of the following is the most widsly used method for removing particulate matter from polluted air?

Ans

#< 1. Cyclone separators
« 2. Electrostatic precipitator

& 3. Fabric filters
#< 4. Carbon capture

Question ID : 723053581

Q.3 Which of the following is the process to induce an ovulation (a single ovum) during menstrual cycle?

Ans - X 1. Ovarian stimulation
& 2 In-vivo fertilization
#< 3. Superovulation
v 4. Ovulation induction

Question ID : 723053583

Q.4 The relative measure of reproductive success of an organism in passing its genes to the next generation is referred to as:

Ans  of 1. Darwinian fitness
& 2. Fecundity

Question ID : 723053591




< 3. Stable population
& 4 Birth rate

Q.5
Ans

Which of the following classes has the highest species diversity among vertebrates?
X< 1. Reptiles
v 2 Fish
/< 3. Mammals
# 4 Amphibians

Question ID : 723053580

Q.6

Ans

A=l & ] $iF v T "SEaeEs 57 0 3EEWOT 87
K 1. FHAFEN FH G B T FHOT A=A

X 2 oSS
K 3 g8 ILSfEar

v 4 T Y oTET I U HiTehE & ST

Question ID : 723053586

Q.7

Ans

Which of the following is an Indian government organization for approval of genetic modification {GM) research and
safety of introducing GM-organisms for public services?

o 1. Genetic Engineering Approval Committee
& 2. Gene Engineering Approval Committee
#< 3. Gene Expressing Authorizing Company

X 4 Genomic Expression Approval Committee

Question ID : 723053595

Q.8

Ans

=fefa # & #i7 @1 comdiT sgea & 3EET 82

X =T FE W HeraTg-Helhole

~ 2.

HFSFRIT & 7T/ AT H AT W@

F )

HTTFEF & AT H AGel &1 Siad gar

v

IFRrear el gaRT 39e AN & dT9HA & b Ry =T

Question ID : 723053579

Q.9

Ans

sfvger o sk e S A BERRE S AR a A P
K. grgeiEEeH

v gy

X 3 TraAEe

K4 e R

Question ID : 723053589

Q.10 OQut of the four phases of a “Logistic growth curve”, which phase is a phase of rapid growth?

Ans

/A 1. Phase I'V

Question ID : 723053592




/A 2 Phasel
#< 3. Phase III
v 4 PhaseII

Q.11 Fre=faram et # & fw g g srer s, AfETesT & a1/ & ST s sar §7

e XK sifear

Question ID : 723053587

X 2. gefrat ZarT
P
J4.Higﬁﬁ!§1uf

Q.12 ueN & e & wmiat = a0 & wea ¥ 77 9w F 5 sfime o veem @ o F aee
ey SRR quT wE e, s B @ & e s 82 Question ID : 723053590

X SraT St
X 2 foregeer st
v o sl wenfaar
< 4 HepeaEd F=Ttaan

Q.13 Which of the following factors does not contribute to high biodiversity in a community?

Question ID : 723053578
Ans X 1. Stable climate

< 2. High competition for resources
' 3 Low predator pressure
& 4 Low inbreeding

Q.14 Which of the following can act as a source of large scale insulin production? .
Question ID : 723053593

Ans - X 1. Cattle
X 2 Pig
v 3 Bacteria
< 4. Plants

Q.15 Which of the following is related to improvement in fish and fishery industries? .
Question ID : 723053577

Ans X' 1. Golden revolution
& 2 silver revolution
« 3 Blue revolution

X 4 Green revolution

Q16 Srafafla & & Fia @ g7 T & fow Beer 22

Question ID : 723053585

Ans ?f-l EETé;T
v 2 ATSEEE AT ek
X 3 Fidermm




X + geper AT Hoeram

Q.17 Which of the following is usad as fusogen in somatic cell hybridization technique?

Ans X 1. Agar

Question ID : 723053596

& 2. Activated charcoal
& 3. Ammonium ions
' i PEG

Q.18 The genes for which of the following traits of Pea plant are not present on chromosome 42

Ans  of 1. Seed shape

Question ID : 723053594

< 2. Plant height
< 3. Pod shape

& 4 Inflorescence

19 el — "
Q19 gt ¥ ohit ¥ e Prafaf@e & ¥ w7 ar Sy A 78 s Question ID : 723053584

e XK. drars-der
A 2 HERrr-we
v o fETar-ETar
K 4 3ERE FER-9RERT

Q20 WWhich of the following is a plant auxin receptor? Question ID : 723053588
Ans x 1. AR

X 2 CRHR 1

X 3. CREI1

v 4 ABP1

Section : Subject Related

Q.1 =T # ¥ = vx s (20) ==, Bt o =i =t &, = o5 Bww 2 oo 2he
e # W@ SR Question ID : 723053607

e K. Hza
X 2 g B (Fers) e
K3 e
v 4 OEITIEAT (SETRE)

Q.2 —— isadevel | disebilty signi Ly affecting verbal and non-verbal communication and social interaction,
generally evident before age three and characterised by engazing in repetitive activities and sterestyped movements, Question ID : 723053616

Ans 1. Dyslexia
X 2. Dysgraphia
v 5 Autism
X 4 ADHD




Q.3

is/are mandated to provide academic and technical resource support to adult and continning education
through devaiopment and production of material and fraining modules. In addition to this, itthey would be required to
conduct motivational and environmental building, action research and evaluation and monitoring.

Question ID : 723053598

Ans X 1. Rashtriva Madhyamik Shiksha Abhiyan
# 2. Jan Shikshan Sansthans
o 3. The State Resource Centre(s)
#< 4. Sarva Shiksha Abhiyan
M R Hearea =t adt 82 Question ID : 723053612
Ans x 7 ﬁ
v 2 TTEN SERT TS (a.v.) S@T
K 3. 3egeRtoT (FEEerem)
X 4 Wﬁ'ﬂTa T
Q5 FlRfe & @ 7 o Fuw BLoamd F FEay F 9 wuT a6 2 Question ID : 723053610
Ans 1
og Rt # argetor (Reegeres) &1 #T T FFar ¢
>~ 2
Tg qATNET0T A BUfFIHIor S GITH T g
7~ 3.
Tz Ran sfsar # et 3 syt guwet F werer see o) AT 3
v
oS, i Reror ¥ 3 seow AT s & v ¥
ae a::::mwm; = T TS ¥ 9w R D it e W Question ID : 723053600
T T & AT HCOEA asT S HwE ol ¢l 98 o 30 O Jud ¢, 396 wefig et w@d
B §1
s XK. smoT geel dree @ O
v e g #r O
X . gea/anfess (Tefas) dwe $r e
X+ Tou/AfEs (anfeees) draa #r e
Q.7 When knowledge is acquired through religious texts, it is known as Question ID : 723053611
Ans 1. testimony
& 2. authority
« 3 revelation
X 4. reason
08 Crafa § ¥ ¥ AT ST & ST AT &7 Question ID : 723053604
Ans

&K AR oTET




X 2 ATAI-AMET
v o shafaee
< 4 mifETdr

Q9 z=v anafiw Regms =1 | fee Te #7327 7 g T1Re?

s XK1 sEeitesT Slerer BeRg w1
>~ 2
TATS HIT Iepiasw TAER0T & aR H A 9°d FAT
7~ 3.
TETATH F g e & o IRAUTHF TR F R w1

v
AT & B st garar 3t aAar f=fae Far

Question ID : 723053602

Q.10 The assessment that expands the findings of an assessment with analysis of abilities and potentials with a further
dimension is known as:

Ans X 1. summative assessment
& 2. formative assessment
/< 3. diagnostic assessment

v & prognostic assessment

Question ID : 723053614

Q.11 mmmmkmﬁéﬂ#mmmwmﬁamtﬁwmw
(TEeFET 59 § T W A= S 8

e X epfaeor
X 2 yientF
A 3 geT wERT
W & | 3TTERTOT

Question ID : 723053599

Q.12 Inaparticular Mathematics class, & studeat can draw geometrical figures and graphs. Which stage of cognitive domain
is the student exhibiting?

Ans 1. Application
v 2. skill
< 3. Knowledge

& 4 Understanding

Question ID : 723053605

OB et & @ #iF @1 S v ggunRie Hiee &7
s X1 grerar

A2 g
75 3. 8qTeT
«4.;%;'3-{

Question ID : 723053601

Q.14 fwefaram # ¥ #ta W sua #NA § wEE Ben # SR w1 & g9 § §4 wuw afl i

Ans & 1
TE AT ot # g ot F i @i st s Rl we b

Question ID : 723053615




x 2
i g st frewi s @ Ao F R wEe swwr & st gt & & we s o
FA

3.
Ig Hed T=AT & Y FIAr aA F HTW g
W

O ST e T Avar H FOREA RIeT & 99 74 a9 6T g

Q.15

Ans

e # ¥ Fi7 @ Fvw T F AeeeE R & Ty & w6 ad
W

TrEa FHT IHAT - A9 W HRT 8, 7 fF wuiEs sEuremd |
>~ 2

gwaﬂ*waﬂﬁwuﬁvﬁw&ww@wﬁﬂﬂmmwmw

X3
dwd w1 st vw eafEa T w0 ¥4 w5 B aE b # B odew wEr sed ®) seey wAn
54
o & 2 goEr & e wy et = wEew B e g § oo and wr g & wmt T &
TAE T AT

Question ID : 723053613

Q.16

Ans

frfaf@a & ¥ o1 s @i g (go) a8 32
A1 FEgg
X 2. TgEeIeT
X5 st

v b

Question ID : 723053609

Q.17

Ans

Which of these factors does NOT affect the emotionality of a person?
v a2l

Child C is happily sleeping at night undisturbed for 8 hours
< 2

Child B is exhausted after travelling for 4 hours in the car
2~ 3.

Child D is suffering from disease due to malnutrition
F

Child A is too much excited at the thought of an ice cream

Question ID : 723053597

Q.18

Ans

Which of these is NOT a good aspect relating to reading a newspaper?
& 1. Increased vocabulary
> 2

Knowledge on antisocial elements in the society

#< 3. Latest update on the current happenings
W

Exaggerated or underplayed news of the real situation

Question ID : 723053606

Q.19

Ans

R 717 FeFeat & T arctone TR | T Sy & w5 w17

Question ID : 723053608




X 1. Rt $r st @ =w T

~ 2.

HE AT AR & g o §
W 3

TETERIE IET (S9) # e & ¥Ey F §EitT S0 96Y e

~ 4.
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Q.20 == & st ot ot = wowet o RS st wt F g wERTRE w0 A aner o

T I Question ID : 723053603
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